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The emphasis in memory level teaching 1s on which of the following?

(a) Orgamisation of thoughts and 1deas
(b Seeing of relationships among facts
(c) Svstematic presentations to enable gquick reproduction

(d) Critical thinking
(e) Mastery of correct sequencing of facts

(f) Segregating one feature from ancther

Choose the answer from the following options :

(1) (a). (b) and (c) (2} (a). (c) and (e)
(3 (b). (c) and (d) (4) (d). (e) and ()
Options :

61547543701, 1
61547543702, 2
E1547543703. 3
E1547543704. 4

Question Number : 1 Question Id : 61547511209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547543702. 2
61547543703, 3
51547543704, 4

Question Number : 2 Question Id : 61547511210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Below are given two sets in which set I specifies the four behaviour modification techmques
while set II indicates their exemplification. Match the two sets:

Set I Set I1
(Behaviour modification (Example)
techniques)
(a) Positive reinforcement (1) Withdrawal of a pleazant stimulus or application

of an aversive stimulus to stop the behaviour

(b) Negative reinforcement (1) Painful or aversive stimulus 1s presented to stop
the occurrence of behaviour

(c) Punishment (1) The behaviour increases in frequency after the
removal of the stimulus

(d) Extinction (iv) The behaviour increases in frequency after the
presentation of a stimulus

Choose yvour answer from the following options:

(1)  (a)-Q). (b)-(1D). (c)-(111). (d)-(iv)
(2) (-1, (b)-Q). (e)-(1u), (d)-(v)
(3)  (a)-Gv), (b)-(ub). (c)-(1), (d)-()
(4 (a)-Gi). (b)-(). (e)-(a1). (d)-(iv)
Options :

E1547543705 1

61547543706, 2

61547543707 3

61547543708 4

Question Number : 2 Question Id : 61547511210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (@)-(1). (b)-(1). (c)-(1m), (d)-(1v)
3y (@-(w). (b)-(111). (¢)-(1), (d)-(1)
@ (2)-(u), (b)-Q). (c)-(11), (d)-(v)

Options :

61547543705 1

61547543706 2

61547543707, 5

E1547543708. 4

Question Number : 3 Question Id : 61547511211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The most characterstic feature of an adolescent learner which determines his/her social and
moral development 1s the

(1) Tendency to be away from parents
(2) Concern for hero worshipping for emulating values and standards
(3) Mixing up with peers in the neighbourhood
(4) Identity erisis
Options :

E1547543705. 1
61547543710, 2
61547543711, 3
61547543712 4

Question Number : 3 Question Id : 61547511211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543709, 1
61547542710 2
61547543711 =
61547542712, 4

Question Number : 4 Question Id : 61547511212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following teaching method (s) 18/are contributive to direct learnming?

(a) Team teaching and lecturing
(h) Simulation and role playing
(c) Lecture with or without use of audio-visuals

(d) Participation in workshop and assignments
(e) MOOCs and heuristics
() Interactive presentations

Choose vour answer from the following options:

(1) (b). (d) and (e) (2) (a), (b) and (c)
(3) (c). (d) and (f) (4) (d). (e) and (f)
Options :

515475437131
61547543714, 2
61547543715 3
E1547543716. 4

Question Number : 4 Question Id : 61547511212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475437121
E1547543714. 2
51547543715 3
61547543716, 4

Question Number : 5 Question Id : 61547511213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an example of maximum performance test?

(1) Projective personality test (2) Interest inventory
(3) Aptitude test (4) Attitude scales
Options :

61547543717, 1
E15475437158. 2
E1547543713. 3
61547543720, 4

Question Number : 5 Question Id : 61547511213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543717, 1
E1547543718. 2
51547543719, 3
61547543720, 4

Question Number : 6 Question Id : 61547511214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

A college teacher does research with a view to depict the reality situations relating to home
conditions of students and hostels provided for. Which of the following research format will
be helpful to do so?

(1) Experimental research (2) Descriptive research
(3) Participant observation based research (4) Ethnographic research
Options :
615475427211
61547543722 2
61547543723 3
61547543724 4

Question Number : 6 Question Id : 61547511214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475437211
61547543722 2
E1547543723. 3
B1547543724. 4

Question Number : 7 Question Id : 61547511215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following steps of research., the scope for creativity and imagination 1s
utmost?

(1) Identifying the research problem and defining 1t
(2) Figuring out the related studies and the techniques used by other researchers
(3) Identifving vamables and hypothesizing
(4) Data analvsis and presentation of results
Options :

615475437251
61547543726, 2
61547543727, 3
E1547543728. 4

Question Number : 7 Question Id : 61547511215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543725 1
61547543726 2
61547543727 3
61547542725, 4

Question Number : 8 Question Id : 61547511216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A research scholar while finally reporting the research results in the form of a thesis
acknowledges the support of his/her supervisor in the preface. This will be treated as a

(1) Sheer formality (2) Needed formahty
(3 Superfluous act (4) Part of ethicahity
Options :

615475437291
61547543730, 2
E1547543731. 3
B1547543732. 4

Question Number : 8 Question Id : 61547511216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547543729. 1
E1547543730. 2
61547543731, 3
61547543732, 4

Question Number : 9 Question Id : 61547511217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In case the population of research 1s heterogeneous in nature which of the following sampling
techniques will ensure optimum representativeness of sample units?

(1) Simple random sampling (2) Stratified random sampling
(3 Cluster samphng (4) Systematic sampling
Options :

61547543732 1
E1547543734. 2
E1547543735. 3
61547543736, 4

Question Number : 9 Question Id : 61547511217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543733 1
E1547543734. 2
E1547543735. 3
B1547543736. 4

Question Number : 10 Question Id : 61547511218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statistical techmque will be appropriate for data analysis when the
observations are available in the form of frequencies?

(1) Parametric 't' test (2) Non-parameitric 'u' test
(3) Non-parametric 'chi-square' test (4) Parametric correlated 't' test
Options :

B1547543737. 1
61547543738, 2
61547543739, 3
61547543740, 4

Question Number : 10 Question Id : 61547511218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543737, 1
61547543738, 2
E1547543739. 3
E1547543740. 4

Question Number : 11 Question Id : 61547511219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Classroom communication 1s

(a) Like a computer - program
(b) Dictatorial
(c) Purposeful
(d) Pragmatic

Choose the correct option from those given below

(1) (a)and (c) (Z) (b) and (c)
(3) (b) and (d) (4) (c)and (d)
Options :

E1547543741. 1
61547543742 2
61547543743 3
61547543744, 4

Question Number : 11 Question Id : 61547511219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547543741. 1
61547543742 2
61547543743, 3
61547543744, 4

Question Number : 12 Question Id : 61547511220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Swapping of encoder -decoder roles in communication happens due to

(1) Cogmitive disruptions (2) Semantic noise
(3) Feedback analysis (4) Weak channelisation
Options :

E1547543745. 1
E1547543746. 2
61547543747, 3
61547543745, 4

Question Number : 12 Question Id : 61547511220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547543745 1
61547543746, 2
61547543747, 3
615475437458, 4

Question Number : 13 Question Id : 61547511221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Classroom Interactions are influenced largely by

(1) Students’ commitment

(2) Teacher centric environment
(3) Organisational oversight

(4) Unsolicited interventions
Options :

61547543749 1

E154754=2750. 2

61547543751, 3
B1547543752. 4



Question Number : 13 Question Id : 61547511221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
£1547543749 1
61547543750 2
615475423751, 5
61547543752 4

Question Number : 14 Question Id : 61547511222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When a large number of students with different performance levels are there 1n the class, for

uniform imparting of educative interactions, a teacher should opt for a communication which

18

(1) Top-down and linear
(2) Technology - enabled
(3) Individual - centric

(4) Self - projected
Options :

1547542753 1
E1547542754 2
E154754=755 2
G1547543756, 4

Question Number : 14 Question Id : 61547511222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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615475437531



E1547543754. 2
61547543755 3
61547543756, 4

Question Number : 15 Question Id : 61547511223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A):  Classroom communication 1s pre-decided by social and institutional
demands.
Reasons (R) : Positive educative actions should guide learners to acquire knowledge of

social significance

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (&)
(3) (A) 13 true, but (R) 15 false
(4) (A) 1s false. but (R) 1s true
Options :
E154754=757. 1
E154754=758 2

E1547543759. 3
51547543760, 4

Question Number : 15 Question Id : 61547511223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547543757, 1
61547543758 2

61547543759, 3
61547543760, 4



Question Number : 16 Question Id : 61547511224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The length of the side of a square (5.0 em » 5.0 em) 1s 1ncreased by 1%. By what percentage
(%). the area of the square increases?

(1) 1% 2y 2%
(3) 2.6 % 4 4%
Options :

61547543761, 1
61547543762, 2
E1547543763. 3
B1547543764. 4

Question Number : 16 Question Id : 61547511224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1% (2) 2%
(3) 2.5 % (4) 4%
Options :

B1547543761. 1
61547543762 2
61547543763, 3
61547543764, 4

Question Number : 17 Question Id : 61547511225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the term X' in the following series

3. 2,11, 14, 27, 34. 51. X

(1) 62 (2) 69
(3) 60 4) 71
Options :

E1547543765. 1
61547543766, 2
B1547543767. 3
61547543768, 4

Question Number : 17 Question Id : 61547511225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. 2. 11, 14, 27, 34, 51. X

(1) 62 (2) 69
(3) 60 4 71
Options :

E1547543765. 1
61547543766, 2
61547543767, 3
61547543768, 4

Question Number : 18 Question Id : 61547511226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A person buys 3 1items of Rs. 1500 each and 2 items of Rs. 1800 each from a shopping mall.
On the total bill a discount of 10% 1s given. What 1s the average cost of the items?

(1) 1650 (2) 1458
(3) 1658 (4y 1550
Options :

61547543769, 1
61547543770, 2
E1547543771. 3
B1547543772. 4

Question Number : 18 Question Id : 61547511226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1650 (2) 1458
(3) 1658 (4) 1550
Options :

E154754376%9. 1
61547543770, 2
61547543771, 3
61547543772 4

Question Number : 19 Question Id : 61547511227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A 50 vear old man has a son whose age 1s 2/5 of his age. After how many years. the ratio of
the age of the man to his son will be 5/37

(1) 10 vears (2) 15 vears
(3) 20 years (4) 25 vears
Options :

B1547543773. 1
61547543774 2
61547543775 3
61547543776, 4

Question Number : 19 Question Id : 61547511227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 10 =9 (2) 1539
(3) 2099 (4) 25=4
Options :

E1547543773. 1
61547543774 2
61547543775 3
61547543776, 4

Question Number : 20 Question Id : 61547511228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The smallest integer greater than 1 which 1s simultaneously a sguare and a cube of certain
Integers 1s

() 8 2 9
(3) 36 (4) 64
Options :

E1547543777. 1
B1547543778. 2
615475437759 3
61547543750, 4

Question Number : 20 Question Id : 61547511228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543777, 1
61547543778 2
615475437749 3
615475427380, 4

Question Number : 21 Question Id : 61547511229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the rght option

(a) Middle term should be distributed 1n atleast one premise
(b) Middle term should be present in the conclusion

(c) Both premises can be particular in a valid argument

(d) Both premises can be negative 1in a valid argument

(1) (c) and (d) (2) Only (c)

(3) Only (a) (4) (b) and (c)
Options :

61547543751, 1
E1547543782. 2
E1547543783. 3
61547543784, 4

Question Number : 21 Question Id : 61547511229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547543781, 1
E1547543782. 2
E1547543783. 3
B1547543784. 4

Question Number : 22 Question Id : 61547511230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s true with reference to anupalabdhi as a means of knowledge?

(1) 1 do not cognize the pot on the table, therefore 1t 15 absent there
{(2) 1 directlv perceive the absence of pot on the table
(3) 1 infer the absence of pot on the table since 1 do not find 1t to be there
(4) 1 know the abszence of the pot on the table because 1 know 1ts similarty with other
absences
Options :

E1547543785. 1
61547543786, 2
61547543757, 3
61547543788, 4

Question Number : 22 Question Id : 61547511230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TH o ATEE % E9 0 ST F g2 0 w5 g6 27

(2)  ®a W Tz i AgeiEata i § =5y ToE
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(4) d A9 W ™ OF A agedd F 9§ Sea 1 =i g sEeiateE § # sEd o
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Options :

£1547543785. 1
61547543756, 2
615475423787, o
61547542788, 4

Question Number : 23 Question Id : 61547511231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"If it rains. then the drought will end. The drought has ended. Therefore. it rained”. Which
kind of fallacy does this commat?

(1) Deductive fallacy (2) Inductive fallacy
(3) Abductive fallacy (4) Informal fallacy
Options :

61547543759, 1
61547543730, 2
E1547543731. 3
B15475437392. 4

Question Number : 23 Question Id : 61547511231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"z =t Brff, A1 S WA S | g GEI B T A 991 551 A5 FRE THE S Eearaw 2 Y

(1) T s (2)  AFTEATTES FeaTaTH
(3)  ITTHEIH® FeATHH (4) SHETETE S
Options :

E154754378%9. 1
61547543730, 2
61547543731, 3
61547543732, 4

Question Number : 24 Question Id : 61547511232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s the charactenstic feature of an argument?

(1) It 1s either valid or invalid (2) It 1s neither valid nor invalid
(3) It 1s e1ther true or false (4) It is neither true nor false
Options :

E15475437593. 1
E15475437394. 2
615475437385 3
61547543736, 4

Question Number : 24 Question Id : 61547511232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fefefEa 9 % %1 @ o fah o6 @ afesa @ 2 2 7

() == =1 a1 9749 2 91 30 (2) TR A A AR SR A o
(3)  =E A A TR R W T (4) =& A9 A & HT A H Te
Options :

515475437531
61547543734, 2
61547543735 3
E15475437396. 4

Question Number : 25 Question Id : 61547511233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"In this hospital, some nurses don't wear white dress. some doctors have private practice and
medicines prescribed are of high cost. Therefore, treatment in this hospital 13 of poor
quality”. What fallacy does this argument make?

(1) Fallacy of composition (2) Shppery slope
(3) Fallacy of accident (4) Fallacy of division

Options :



B15475437397. 1
61547543738, 2
615475437395, 3
61547543800, 4

Question Number : 25 Question Id : 61547511233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘50 AT § TS A6 Whe 95 Al TeAdl B, F9 faihens s GfFem wd & 3 wei gansdi fomd

TH{eTT, TH SO | °ieg TET 1 = 39HR Azl =@ IR T F -7 ZeaTHE B 7
(1) Huz-2 (2) Teegdi ==
(3)  Fwig-a @) Fom-am

Options :

B1547543797. 1
61547543738, 2
615475437349, 3
61547543800, 4

Sub-Section Number: 2
Sub-Section Id: 615475485
Question Shuffling Allowed : Yes

Question Id : 61547511234 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cestion Lakel Comprehension

Consider the following table that shows the amount of exports (in crore %) from three

different companies A. B. and C over the yvears 2012-2018. Based on the data in the table.
answer the questions 26-30:

Year-wise amount of Exports from companies

Amount of exports (In cror. Rs.)
Year
A B G

2012 40 80 70
2013 70 50 100
2014 50 70 150
2015 80 70 100
2016 110 90 70
2017 60 110 80
2018 1350 150 110

Sub questions

Question Number : 26 Question Id : 61547511235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Average annual amount of exports during the given period for company B 1s approximately
what percent (%) of the average annual amount of exports for company C?

(1) 89.64% (2) 91.21%
(3) 94.03% (4) 93.33%
Options :

51547543801, 1
61547543802, 2
61547543803, 3
61547543804, 4

Question Number : 27 Question Id : 61547511236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In how many of the given years, were the exports from company A more than its average

annual exports over the given vears?

(1) 2 (5 3
3) 4 4) 5
Options :

E1547543805. 1
E1547543806. 2
61547543807, 3
61547543808, 4

Question Number : 28 Question Id : 61547511237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What was the differene between the average exports of three companies 1n 2017 and the

average exports of three companies in 20127

(1) ¥ 15.33 crores (2)y ¥ 18.67 crores
(3) T 25 crores (4y T 20 crores
Options :

E154754380%9. 1
E1547543810. 2
61547543811, 3
61547543817, 4

Question Number : 29 Question Id : 61547511238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year. the absolute difference between the exports from companies A and B was the

minimum?

(1) 2013 (2y 2014
(3) 2015 (4) 2016
Options :

E1547543813. 1
E1547543814. 2
61547543815, 3
61547543816, 4

Question Number : 30 Question Id : 61547511239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For which of the following pairs of years. the total exports from the three compames put
together are equal?

(1) 2014 and 2017 (2) 2015 and 2017
(3) 2016 and 2017 (4) 2014 and 2015
Options :

E1547543817. 1
E1547543818. 2
61547543815, 3
61547543820, 4

Question Id : 61547511234 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Zuestion Label : Comprehension

ffetfag oriefi w foan =+ 5om A= Fofar o, o o0 O = g/ 99 2012-2018 & =9 fFo 7o
frta it ofer (Fs 5. 9) foae v 2 anfoft 4 fo 1o s % smaw W, W 26 — 30 HOIA

[ Frm o (7 = )
T = e

2012 40 90 70
2013 70 50 100
2014 o0 70 130
2015 80 70 100
2016 | 110 90 70
2017 60 110 90
2018 | 130 150 110

Sub questions



Question Number : 26 Question Id : 61547511235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
#i 8 w|ty % 2w & g e e fara A e sl i S i g e e Tt Fosttaa
1 Tt = e e aiaea (%) 27

r

(1) 89.64% (2) 91.21%
(3) 94.03% (4) 93.33%
Options :

61547543801, 1
61547543802, 2
E1547543803. 3
51547543804, 4

Question Number : 27 Question Id : 61547511236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
# M aEftg F 2NE F A 99 8 S U g e Tt o afm F gE smta F 2w A e s
AT g T H AE R

() 2 (2) 3
(3) 4 (4) b
Options :

E1547543805. 1
61547543806, 2
61547543807, 3
61547543808, 4

Question Number : 28 Question Id : 61547511237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T9 2017 H AF1 FAEE ® HiET FEE v 59 2012 9 96 F9HE % e e 0 e A e v

(1) ¥ 15.33 ¥4/ (2) % 18.67 =S
(3) T 257E (4) T 20FTs
Options :

51547543805, 1
61547543810, 2
61547543811, =
E1547543812. 4

Question Number : 29 Question Id : 61547511238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



foFm =9 #t v va FE S A sfm e s =g ot

(1)
(3)

Options :

2013
2015

61547543812 1
61547543814, 2
E1547543815. 3
E1547543816. 4

(2) 2014
4) 2016

Question Number : 30 Question Id : 61547511239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

frfetaa 76 79 a9 % IRF dF HIEE w0 Fe A 99E w18

(1)
(3)

Options :

2014 317 2017
2016 =7 2017

E1547543817. 1
61547543818, 2
61547543819, 3
61547543820, 4

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

(2) 2015 =T 2017
(4) 2014 #F 2015

3
615475486
Yes

Question Number : 31 Question Id : 61547511240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are major 1ssues arising out of the growing reliance on information

technology?
(a) Profitability
(b) Security threats

(c)

Choose the correct option :

(1)
(2)
(3)
(4)

Options :

Privacy concerns

(a) and (b) only
(a) and (c) only
(b) and (c) only
(a). (b) and (c)

61547543821, 1



E1547543822. 2
61547543823, 3
51547543824, 4

Question Number : 31 Question Id : 61547511240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafEa 5 o == g==n et W sEd AT 5o 9ed 959 B gEE R Y
(a)  FHFD

(b) g Had @

(c) Tt gaeht faan

() = (a) 3R (b) @) e (a) A° (©)
(3)  Fa (b) #W (¢) @) (a). (b) ()
Options :

61547543821, 1
61547543822 2
61547543822, 3
E1547543824. 4

Question Number : 32 Question Id : 61547511241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following communication technologies employ only asynchronous
communication?

(a) Video conferencing
(b) Email
(c) Forums

(d) Instant messaging

Choose the correct optlon :

(1) (a) and (c) only (2) (b) and (d) only
(3) (b) and {(c) only (4) (a) and (d) only
Options :

61547543825, 1
61547543826, 2
61547543827, 3
E1547543825. 4

Question Number : 32 Question Id : 61547511241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



freAfetiias § o =i @i H=W SrEiehl T AEERTos N W I FAdl A 7
(b) A

(c) =

(d) @ EEm

() 3 (a) FF (o) (@) FFE () i (d)
(3)  Faet (b) #HK (o) (4) FAE (a) 377 (d)
Options :

61547543825, 1
61547543826, 2
61547543827, 3
E1547543825. 4

Question Number : 33 Question Id : 61547511242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements 1s/are correct?

(a) For the sequence of integers represented in binary as 00111, 01001. 01011. P..... the
next integer P would be represented as 01101

(b) A byte 18 a binary number consisting of exactly 8 bits

Choose the correct option:

(1)  (a) only

(2)  (b)only

(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options :
61547543529 1
E154754=28230. 2
£1547542531. 2
61547543532 4

Question Number : 33 Question Id : 61547511242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



freaferfiaa § o =4 @ w7 98 227

(a) Tgemat wem § Tfg sfawsg e 00111, 01001, 01011, P, ............. & %9 H 37
st == P, 01101 & =9 § F=faa wrf |

(b)  ATF UF Tgemur wem Bt 2 e o as 5 2 E

1)  Fa= (a) (2) A (b)
(3)  (a) ¥R (b) FFI @) (a) 3T (b) FE 77
Options :

E1547543829. 1
E1547543830. 2
61547543821, 3
61547543832, 4

Question Number : 34 Question Id : 61547511243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List-T with List-II in the context of computer networking :

List-I List-IT
(a) VOIP (1)  Makes use of hight pulses to transmit
data
(b)  Fibre-optic cable (11) Use of internet to make phone calls
(¢y URL (1) Most appropriate to connect computers

in a small building

{(d) UTP cable (1v) Text used by web browsers to locate a
web address on the Internet

Choose the correct option :

(1) {a)-(1w). (b)-(1). (¢)-(11). (d)-(111)
(2} (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(11). (b)-(111). (e)-(xv). (d)-(2)
(4) (a)-(xv), (b)-(i11). (e)-(11). (d)-(1)

Options :

61547543833, 1

61547543834, 2

51547543835, 3
61547543836, 4

Question Number : 34 Question Id : 61547511243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(¢) J ¥ oA (i) Tt B WaT § Fgd H 9T F NS F
(d) Tl Fae (iv) 202 T UF 99 USH God (00 d6 sead
G S AT

(1) (a)-(av). (b)-(1). (c)-(1). (d)-(111)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(1). (b)-(113), (c}-(iv). (d)-(1)
(4)  (a)-(iv). (b)-(i1i). (c)-(11). (d)-(1)

Options :

61547543833, 1

61547543834, 2

E15475438535. 3
E1547543856. 4

Question Number : 35 Question Id : 61547511244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select the option that includes file formats suitable for distributing sound files across the
Internet.

(1) wmv, mpd. wma, mp3

(2) avi, midi. wav, mp3

(3) avi, mov, wmv, mp3

(4) midi, wav, wma. mp3
Options :

61547543837, 1
E1547543838. 2
E1547543839. 3
61547543840, 4

Question Number : 35 Question Id : 61547511244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d) U HE AR, I5g U Hl, Seeg UH U, w3
Options :
61547543837 1
61547543838, 2
E15475438539. 3
E1547543840 4

Question Number : 36 Question Id : 61547511245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Biomass fuels have the potential to form a sustainable carbon-neutral energv source because
they
(1) Produce carbon dioxide on combustion as much as they consume when they grow

(2) Produce less amount of carbon dioxide on combustion compared to the amount they
use during their growth

(3) Have carbon content same as foszil fuels
(4) Do not produce hazardous emissions on combustion
Options :

B1547543841. 1
61547543842 2
61547543842, 3
61547543844, 4

Question Number : 36 Question Id : 61547511245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TETE $UA 0 HUWUE A g2 S & g i SEar 7 2 F4 TE
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(3) = S S f1 T w2

(4) 4 2 FH W GEAE 009 A A 8
Options :

61547543841, 1

61547543842, 2

61547543843, 3

61547543844, 4



Question Number : 37 Question Id : 61547511246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Major sources of oxygen demanding waste in fresh water systems are

(a) Agreultural run-off
(b) Food processing

(c) Ore mining

(d) Sewage effluent

(e) Landfill sites

Choose the correct option from those given below:

(1)  (a).(d) and (e) (2)
(3) (a). (b) and (d) (4)
Options :

51547543845 1
61547543846, 2
61547543847, 3
E15475438458. 4

(b), (d) and (e)

(a). (b). (c) and (d)

Question Number : 37 Question Id : 61547511246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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(1) (a). (d) =X (e) (2)

(3)  (a), b #FT () (4)

(b). (d) 317 (e)

(a). (b). (c) R (d)



Options :

51547543545, 1
61547543846 2
61547543547 3
61547542848, 4

Question Number : 38 Question Id : 61547511247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a renewable natural resource?

(1) Biological diveristy (2) Tin
(3) Natural zas (4y Salt
Options :

E1547543849. 1
61547543850, 2
51547543851, 3
61547543852, 4

Question Number : 38 Question Id : 61547511247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fAfefEd 8 & FF JHE0E TEas EeE 7

(1) == ffa @ f=
(3)  WTFfaw T @) =W
Options :

61547543849 1
E1547543850. 2
E1547543851. 3
61547543852, 4

Question Number : 39 Question Id : 61547511248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following natural hazards has relatively slow onset?

(1) Volcanic eruptions

(2) Droughts

(3) Wild fires

(4) Land and shides
Options :
1547542552 1
E154754=854 2

E1547543855. 3
E1547543856. 4

Question Number : 39 Question Id : 61547511248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

(1) e f=ese

(2) oEn

(3) ZIERA (1502 FET)

(4) TgeTH
Options :
515475435853, 1
E1547543854, 2
E1547543855 3
61547543856 4

Question Number : 40 Question Id : 61547511249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under Kyvoto protocol, the parties, in the second commitment period, have to reduce theiwr
sreenhouse gas emissions with reference to 1990 levels by atleast

(1) 10%
(2) 12%
(3) 15%
(4) 18%
Options :

E1547543857. 1
61547543858, 2
61547543859, 3
61547543860, 4

Question Number : 40 Question Id : 61547511249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT T2 & AT Gl S e e o T 1990 ¥ ¥ 9% FH H FH FFad UEed =5 TR TE A

(1)  10% 2) 12%
(3) 15% (4) 18%
Options :

E1547543857. 1
61547543858, 2
51547543859, 3
61547543860, 4

Question Number : 41 Question Id : 61547511250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Matech the following study skills with their effective learning technigues:

(a)

(b)

(c)

(d)

Study skills

Elaborative interrogation
Practice testing
Self-Explanation

Interleaved practice

Choose the correct option :

(1)
(2)
(3)
(4)

Options :

(a)-(1v). (b)-(111). (¢)-(11), (d)-(1)
(a)-(1). (b)-(11). (¢)-(1v). (d)-(111)
(a)-(11). (b)-(v). (e)-(2). (d)-(11D)
(a)-(ui). (b)-Q). ()-(1), (d)-(v)

61547543861, 1
E1547543862. 2
E1547543863. 3
51547543864, 4

(1)
(11)
(111)

(1v)

Learning techniques

Mixing different kinds of problems
together when studying

Explaining what a section of text or an
example problem means to you

Testing vourself on the material you
are trying to learn

Answering why a fact 1s true

Question Number : 41 Question Id : 61547511250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(8) TFERF T53 () =R F Twa Tt e i mEens w=
oy § e
(b) e faem (i) ™= % wF e =1 == =0 =9E, A1 o

F o0 I 2, % 9% § 5
(©) T (i) 5= g = Higd Ay Y= 9 B, 39
W= A

(d) A HEiaE =R (iv) &% 1 TAl &, SHH I 31

A= T2u o fament 9§ 9 9y w1 =9

(1) (a)-v). (b)-(ii). (c)-(1). (d)-@)
(2 (@-@. (b)-(1), ()-(iv). (d)-(1i1)
(3) (a)-(11). (b)-(v). (e)-(1). (d)-(111)
(4) (a)-(1). (b)-(1). (c)-(11), (d)-(1v)

Options :

51547543861, 1

61547543862, 2

E15475438635. 3
E1547543864. 4

Question Number : 42 Question Id : 61547511251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following represents the correct order of sequence for reading skills 1n the
context of research?

(1) Read. question, recall, review, survey

(2) Questions, survey. read. recall. review

(3) Recall. review, survey. question, read

(4) Survey, question. read, recall. review
Options :

61547543865, 1
E1547543866. 2
E1547543867. 3
51547543868, 4

Question Number : 42 Question Id : 61547511251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 939, W99, T, HH, e
(2)  UYH, WAL, U3, B0, HHIET
(3)  TW, HHiE, HAH, UIA, TAA

(4) T, Tv, T34, T, FEHIE
Options :
BE1547543865 1
61547543866 2
61547543367 2
61547543565, 4

Question Number : 43 Question Id : 61547511252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In order to meet the demands of market economy and produce competent graduates, who can
compete with their counterparts in international markets, the first and foremost change that
needs to be introduced in the prevailing system of Indian higher education 1s related to:

(1) Admission process
(2) Curriculum
(3) Educational technology

(4) Appointment of teachers
Options :
1547542569 1
61547543570 2
1547542871 2
61547542572 4

Question Number : 43 Question Id : 61547511252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR AT F A FH T FH T I FGE GAR T 2g, T SATUEE aER § A9 SEE o
TETg A T, TO9F SEAE T=9 a1 § Tanyn SR greayy) ufEed et 1 9 e e 2 v

(1)  wao wien

(2)  wIEHH

(3)  Tifer WA

@ v P

Options :

£1547543569. 1
61547543570 2
615475423871, 5



BE1547543872. 4

Question Number : 44 Question Id : 61547511253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s the flagship scheme of the Ministry of Skill Development and
Entrepreneurship implemented by National Skills Development Corporation?

(1) Robotics India

(2) Artificial Intellizence @ schools

(3) Make in India

(4) Pradhan Mantr Kaushal Vikas Yojna

Options :

61547543873, 1
61547543874 2
61547543575 3
615475423576, 4

Question Number : 44 Question Id : 61547511253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=0 H i wive fawm o saiaar gaer i sl g & e 5 e adi s Ewm
g o T 2 7

(1)  TETed sfsa

(2) ST 2 @ e

(3)  ®% 39 s

(4)  TEE T FIOE S AT
Options :
61547543873, 1
61547543874 2
61547543575 3
615475423576, 4

Question Number : 45 Question Id : 61547511254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the age of four Vedas. students were admitted to the Vedic schools after performance of
which ceremony. among the following :

(1) Upanavana ceremony
(2) Utsarjana ceremony
(3) Satapatha brahmana

(4) Dhanurvidya ceremony

Options :



BE1547543877. 1
61547543878, 2
61547543879, 3
61547543880, 4

Question Number : 45 Question Id : 61547511254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 991 * F ° Tt = Fetetae 8§ e goen = s afew faene § 99 S wnd

(1) 39994 550
(2)  SoHEA HEERR
(3) ICqd ATEI

(4) o TR

Options :

61547543877, 1
61547543578 2
615475435749 3
61547542880, 4

Sub-Section Number: 4
Sub-Section Id: 615475487
Question Shuffling Allowed : Yes

Question Id : 61547511255 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ



Read the passage and answer questions from 46 to 50.

Anvone who has ever been In a classroom where the teacher's presentation was lifeless.
static, and without vocal variety can appreciate the commonsense value of the affective side
of teaching. However, unlike the other behaviours, affect cannot be captured in transcripts of
teaching or by classroom interaction instruments. Narrowly focussed research instruments
often miss a teacher's affective nature. which emerges from a more holistic view of the
classroom. This affective nature 1s the foundation on wheih one can build a warm and
nurturing relationship with his or her learness. What the instruments miss, the students see
clearly. Students are good perceivers of the emotions and Iintentions underlying a teacher's
actions. and they often respond accordingly. A teacher who 1= excited about the subject being
taught and shows it by facial expressions. voice inflection. gesture and movement-thus
communicating respect and caring for the learner - 1= more likely to hold the attention of
students and motivate them to higher levels of achievement than one who does not exhibit
these behaviours. Students take their cues from these affective signs and lower or heighten
their engagement with the lesson accordingly. Enthusiasm 1s an important aspect of a
teacher's affect. Enthusiasm 1s the teacher's vigour, power. involvement, excitement, and
interest during a classroom presentation and willingness to share this emotion with learners.
who will want to respond 1n kind.

Sub questions

Question Number : 46 Question Id : 61547511256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When does one feel the need for the value of affective aspects of teaching?

(1) When a teacher has a vocal variety

(2) When a teacher makes a dvnamic presentation

(3) When a teacher's presentation 1s monotonous

(4) When a teacher's lecture 1s beyond expectation
Options :

E1547543881. 1
61547543882, 2
61547543883, 3
61547543854, 4

Question Number : 47 Question Id : 61547511257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The affective nature of teaching is reflected in

(1) Deeper understanding of the classroom environment

(2) Other behaviours of the teacher

(3) The recording of classroom interaction
(4) The limited reliance on research instruments
Options :

61547543885, 1
61547543886, 2
E1547543887. 3
E1547543888. 4

Question Number : 48 Question Id : 61547511258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Students respect a teacher who

(1) 1s emotional

(2) displays concern for students

(3) has a powerful voice

(4) has narcissitic attitude
Options :

61547543889, 1
61547543830, 2
E15475438591. 3
E15475438392. 4

Question Number : 49 Question Id : 61547511259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The affective signs will provide students

(1) The basis for understanding contents

(2) Exhibitional behaviours

(3) Cues to hold attention

(4) A basis which triggers further enthusiasm

Options :
1547542892 1

E15475438394. 2
E1547543835. 3
51547543836, 4

Question Number : 50 Question Id : 61547511260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The passage focusses attention on

(1) Lifeless classroom presentation

(2) Affective factors of teaching

(3) Students as emotional learners

(4) Measuring teacher's affective nature

Options :

61547543897, 1
61547543898, 2
615475423899 2
61547543500, 4

Question Id : 61547511255 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Cestion Lakel Comprehension
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Sub questions

Question Number : 46 Question Id : 61547511256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) =9 ®eq9F § F1= 995 7

(2) FE ASTF § a4 m—gf&%
(3)  wH AEATTE i WA AR 7

(4) == HEAF F AR G § @wad 5
Options :
61547543381 1
61547543582 2
E1547543885. 3
E15475438084 4

Question Number : 47 Question Id : 61547511257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 1 qrETeEE T uieied w6l 8

(1) T & F TEE F TE g °

(2)  AYANE F 0 TIEEN H

(3)  Fard w3 i e
(4)  Tmg HEAT W HIHG B 0 ATA =

Options :

51547543885, 1
61547543886 2
£1547543557. 2
61547542888, 4

Question Number : 48 Question Id : 61547511258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

faenefi, v8 AT W T 29 B, A

(1)  =Fs = (2) oot = wifd fomar Zoie
(3)  wurd AU AT A (4) IR W AR T A

Options :
E154754=889. 1

E1547543830. 2
E15475438391. 3
61547543832, 4

Question Number : 49 Question Id : 61547511259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El} 'F.-l : _Eﬂ;_l ek E 9 ?FI_. TR {2} X 4"fr: Ef ﬂ AR
(3)  *AW SA @A 7Y Hehd (4) IHTE T IR TG FH =g WG
Options :

6154754358392, 1
E15475438394. 2
E1547543835. 3
51547543836, 4

Question Number : 50 Question Id : 61547511260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(1) T =harma i (2) T % e s
(3)  HIMeHT AlEFEAA * =0 § faEnd (4) HEATH FH GEHS THA FATH

Options :

E1547543897. 1
E1547543898. 2
£15475438939. 3
£1547543300. 4

PART II Visual Art

Section Id : 615475150

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questions to be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 615475488
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547511261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The view that defines the form in visual art 1z known as
(1) Constructivism (2) Formalism

(3) Impressionism (4) Expressionism

Options :



E1547543901. 1
61547543902, 2
51547543903, 3
615475433904, 4

Question Number : 51 Question Id : 61547511261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  =FgFeiasd (2) TS
(3) I (4) wFHTIH
Options :

E1547543901. 1
61547543902, 2
51547543903, 3
615475433904, 4

Question Number : 52 Question Id : 61547511262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who made portraits of Raja Balvant Singh of Jasrota?

(1) Wihalchand (2) Molaram
(3) Manaku (4) Nainsukh
Options :

E1547543805. 1
E1547543906. 2
51547543907, 3
515475433908, 4

Question Number : 52 Question Id : 61547511262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FEIZT % A gead 9 F 9 =g e g v

(1) TEe=Es (2) H=ERE
(3) =T (4) T3
Options :

615475433905, 1
615475433908, 2
E15475438907. 3
515475433908, 4



Question Number : 53 Question Id : 61547511263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Groundplan of the tomb of Shershah Sum 1s

(1) Sguare (2) Hexagonal
(3) Octogonal (4) Rectangular
Options :

E154754390%9. 1
51547543910, 2
51547543911, 3
61547543912 4

Question Number : 53 Question Id : 61547511263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR i F A A AT

(1) == (2) wEFME
(3) A ATH (4) IAER
Options :

E154754390%9. 1
61547543910, 2
61547543911, 3
61547543912 4

Question Number : 54 Question Id : 61547511264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The famous bronze statute of Buddha of Gupta period found from Sultangan) 1s kept In
which museum?

(1) British Museum, London (2) Birmingham Museum. Birmingham
(3) Louvre Museum. Paris (4) National Museum. New Delha
Options :

E1547543913. 1
E1547543914. 2
51547543915 3
61547543916, 4

Question Number : 54 Question Id : 61547511264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  fafzs =i==m. 7= (2) =it gfmm, afiam
(3) It Hfaem, Ui (4) g F@uEEE, B
Options :

51547543913 1
61547543914, 2
61547543915 3
61547543916 4

Question Number : 55 Question Id : 61547511265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the Japanese artist who signed himself “Old man mad about painting”

(1) Korin (2) Sotatsu
(3) Utamaro (4) Hokusail
Options :

61547543917, 1
E15475439158. 2
E1547543913. 3
61547543920, 4

Question Number : 55 Question Id : 61547511265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g5 AM™ '_‘“ ":f' TRIERL SIEi m = ﬂff -E{ ri':ﬁ'-'llgl ISI-;IT ‘-a'_":lﬁ r'Eﬁq -El?_: '-ﬁ:‘g[\j;.. '-'lrE .I-il,

(1) == (2) AT
(3)  ZamEm (4) TrFEEE
Options :

E1547543917. 1
51547543918, 2
615475439145, 3
61547543920, 4

Question Number : 56 Question Id : 61547511266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was the first Director General of National Museum. New Delh1?

(1) Pupul Jayvakar (2) Dr. Grace Morley
(3) Kapila Vatsyayvan (4) C. Sivaramamurt
Options :

E1547543921. 1
B1547543922 2
61547543923, 3
61547543924, 4

Question Number : 56 Question Id : 61547511266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e HuEEE, 98 B % U9H vErHeeE Fig 97

(1) I3 FFH (2) =17\ A
(3) AT T (4) . e 5
Options :

61547543921, 1
61547543922, 2
E1547543923. 3
E1547543924. 4

Question Number : 57 Question Id : 61547511267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 12 a representation in which subject’s features are exaggerated?

(1) Landscape (2) Photograph
{(3) Portrait (4) Caricature
Options :

615475439251
61547543926, 2
E1547543927. 3
E1547543928. 4

Question Number : 57 Question Id : 61547511267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  wFfd = 2 = fE
(3) == (4) =7 o=
Options :

E1547543925. 1
61547543926, 2
61547543927, 3
61547543928, 4

Question Number : 58 Question Id : 61547511268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the art movement that was born due to collapse of moral and soclal values during

world war [

(1) Cubism (2) Dadalsm
(3) Impressionism (4) Fauvizm
Options :

E1547543929. 1
E1547543930. 2
51547543921, 3
61547543932, 4

Question Number : 58 Question Id : 61547511268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i 2, o Y e s ~ - -, e
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(1) HdTe (2) HH G
(3) A=A (4) FEER"
Options :

E1547543929. 1
61547543920, 2
61547543921, 3
61547543932, 4

Question Number : 59 Question Id : 61547511269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

‘Armory Show’ an exhibition in New York (1913) was orgamzed by

(1) Walt Kuhan and Wassily Kandinsky (2) Walt KEuhan and Arthur Davies

(3) Arthur Davies and Mark Rothako (4) Paul Klee and Piet Mondrian

Options :

61547543933 1
61547543934 2
615475434935 3
615475434956 4

Question Number : 59 Question Id : 61547511269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=T (1913) B SAmEiaa s o G Fer USeHt ) s e e e

(1) =2 F=[ S S FesF (2) T FEE W AR EH
(3) o 2Rm sit o T (4) Oi= FeAt 3R e AEE
Options :

E1547543923. 1
61547543924, 2
61547543935 3
E1547543936. 4

Question Number : 60 Question Id : 61547511270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Phad’ 1= a folk art form of

(1) Madhubani (2) Kahghat
(3) Purha (4) Bhilwara
Options :

51547543937, 1
61547543928, 2
61547543939, 3
E1547543940. 4

Question Number : 60 Question Id : 61547511270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  =g= (2) =FEAER
(8) o (4) ieErs
Options :

E1547543937. 1
61547543928, 2
61547543939, 3
61547543940, 4

Question Number : 61 Question Id : 61547511271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Book ‘Presence of Shiva' is written by

(1) E.H. Gombrich (2) R. Collingwood
(3) Stella Kramrisch (4) Rudoulf Arnheim
Options :

61547543941, 1
61547543942 2
E1547543943. 3
E1547543944. 4

Question Number : 61 Question Id : 61547511271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 3. u=. T (2) . FierEs
(3) e (4) FSI+F -':-4I{r;"'_.4-i
Options :

61547543941, 1
615475439472 2
61547543943, 3
61547543944 4

Question Number : 62 Question Id : 61547511272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The painting, ‘Blue Circus’ 1s painted by

(1) John Miro (Z) Pablo Picasso
(3 Henr Matisse (4) Marc Chagall
Options :

61547543945 1
E154754394E. 2
E1547543947. 3
51547543948, 4

Question Number : 62 Question Id : 61547511272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) =9 5 (2) e fowmE
(3) = AW (4) AT T
Options :

E15475438945. 1
E1547543946. 2
B1547543947. 3
51547543948, 4

Question Number : 63 Question Id : 61547511273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A V-shaped black granite wall memorial to dedicate the Vietnam Veterans 1s made by

(1) Maya Lin (2) Jeebesh Bagchi
(3) Robert Smithson (4) Alfred Leslie
Options :

515475439459 1
61547543950, 2
61547543951, 3
E1547543952. 4

Question Number : 63 Question Id : 61547511273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(1) =P fos (2) frEw awEd
(3)  vime fouEs (4) HAeHS Al
Options :

61547543949 1
E15475438950. 2
E1547543951. 3
51547543952, 4

Question Number : 64 Question Id : 61547511274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The technique of painting extended to incorporate text and collage during

(1) Surrealism (2) Realism
{3) Fauvism (4) Cubism
Options :

61547543953, 1
61547543954, 2
E1547543955. 3
E1547543956. 4

Question Number : 64 Question Id : 61547511274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  AfE@dEE (2) FIIETE
(3) RIEEIE (4) =R
Options :

£1547543952. 1
E1547543954. 2
£1547543955. 3
51547543956, 4

Question Number : 65 Question Id : 61547511275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chinese Art has been propoundly influenced by

(1) Hinduism, Buddhism, Confuciamism (2) Buddhism, Hinduism, Taoism

(3) Zorastrianism, Buddhism. Taolsm (4) Buddhism, Confucianism. Taolsm

Options :

61547543957, 1
61547543958, 2
615475439359 =2
61547543960, 4

Question Number : 65 Question Id : 61547511275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) feg o, @ig o, Forefias (2) wig gd, feg v, WwTER
(3) | g, "G 9y, dieEE (4) dig 9H, FEFEERE, TR
Options :

E1547543957. 1
E1547543958. 2
61547543959, 3
615475433960, 4

Question Number : 66 Question Id : 61547511276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who had given the following statement: "Art deoes not reproduce the visible, rather it makes

visible’

(1) Fransis Bacon (2)  Paul Klee

(3) Waszsily Kandinsky (4) Jorges Rouault
Options :

61547543961, 1
E1547543962. 2
E1547543963. 3
51547543964, 4

Question Number : 66 Question Id : 61547511276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-
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(1)  IeE == (2) 9id Tl
(3) Gl wESh (4) s FHA

Options :

51547543961, 1
61547543962 2
61547543963 o
61547543964 4

Question Number : 67 Question Id : 61547511277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The tool gouges 1s

(1) A flat chisel (2) A half round chisel for carving wood
(3) A pointed chisel for carving stone (4) A clay modelling tool
Options :

51547543965, 1
61547543966, 2
61547543967, 3
E1547543965. 4

Question Number : 67 Question Id : 61547511277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o TE (W) e 5 8 T R Y

(1)  =mas A (2) FE F IRUH F 0 A TEER 241
(3) TR F I o e T (4) ToEt Feun 9=
Options :

E1547543965. 1
B1547543966. 2
61547543967, 3
61547543968, 4

Question Number : 68 Question Id : 61547511278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Glyptic mode of rendering form 1s associated with

(1) Welding (2) modelling
(3) Casting (4) ecarving
Options :

6154754396459, 1
61547543970, 2
61547543971, 3
E1547543972. 4

Question Number : 68 Question Id : 61547511278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=OUq =R i AT et Gt Fetetas § § feog gataa 27

"

(1) Bl G| (2) THzzE
(3) EEL (4) IR
Options :

515475439645, 1
61547543970, 2
61547543971, 3
E1547543972. 4

Question Number : 69 Question Id : 61547511279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Vishnu iconography ‘gada’ 1s represented as

(1) Female companion (2) Celestial being
(3 Male companion (4) A vehicle
Options :

61547543972 1
E1547543974. 2
B1547543975. 3
61547543976, 4

Question Number : 69 Question Id : 61547511279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faom wfamTfas= 8 e 1 fefaies § o B ey = g = ey

(1) = (2) ImTEA T
(3) TET T (4) TmEA

Options :

61547543973, 1
61547543974 2
615475434975 3
615475423976, 4

Question Number : 70 Question Id : 61547511280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Gandhar art 1s related to

(1) Greco—Roman art (2) Indo—Persian art
i(3) Indo—Greek art (4) Central Azian art
Options :

615475439771
61547543978, 2
E1547543979. 3
E1547543980. 4

Question Number : 70 Question Id : 61547511280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR el H=engd 8§ o ey gt 7 7

(1)  FFT T8 e (2) ARAE-gE F
(3)  AEAE-TAET Fe (4) HET U FE
Options :

61547543977, 1
E1547543978. 2
B1547543979. 3
51547543980, 4

Question Number : 71 Question Id : 61547511281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who 1s the sculptor of Rondanim Pieta?

(1) Philip king (2) Donatello
(3 Mailol (4) Machel Angelo
Options :

51547543981, 1
61547543982, 2
61547543983, 3
E1547543984. 4

Question Number : 71 Question Id : 61547511281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 [ O e (= i ¥ =
TTETT 9T A:Hml{lﬁiﬁrﬂm - E=ATE

(1)  ToieT (2) =HEEE
(3)  H== (4) HEwA TrEe
Options :

51547543981, 1
61547543982, 2
61547543983, 3
E1547543984. 4

Question Number : 72 Question Id : 61547511282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ratwik Ghatak made a documentary film (1975) in a form of dialogue and discourse on

(1) Chintamom Kar (2) Somenath Hore
(3) Ramkinkar Bay (4) Meera Mukherjee
Options :

61547543955, 1
E1547543986. 2
B1547543987. 3
51547543988, 4

Question Number : 72 Question Id : 61547511282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ficas g2 4 Featigd § § 0% o8 § 9912 3 =991 & =9 0 % gai=g a94 7

(1)  foamfn Fr (2) =HAY ER
(3) TR 9= (4) T g
Options :

E1547543985. 1
51547543986, 2
61547543987, 3
61547543958, 4

Question Number : 73 Question Id : 61547511283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chadwick was a

(1) American Sculptor (2) British Sculptor
(3) Swedish Sculptor (4) French Sculptor
Options :

61547543959, 1
E1547543930. 2
E15475439391. 3
515475439582, 4

Question Number : 73 Question Id : 61547511283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s 77 47

1) s i @ e % iR
(3)  w=T=T % giAHn (4) W F HiaFn
Options :

61547543959, 1
E15475439380. 2
E15475439391. 3
515475439582, 4

Question Number : 74 Question Id : 61547511284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which wood 1= preferred for carving?

(1) Low 1n o1l content (2) Without o1l
(3) Rich in o1l content (4) Low in mineral content
Options :

E15475439593. 1
B15475439594. 2
61547543985 3
615475439396, 4

Question Number : 74 Question Id : 61547511284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

scfiia % Too fa=fofaa 4 @ frm w=n = g =+ sifas oo foean = 27

(1) T o= 6t 5en =6 = (2) =1 aeiE 95 =
(3)  foud a= =i st orn = (4) Tamd wis =i o == =

Options :
E15475459935. 1

E1547543954. 2
E1547543935. 3
51547543996, 4

Question Number : 75 Question Id : 61547511285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Brayar’ 1s also known as :

(1) Block of wood (2) Gum Arabic
(3) Rubber Roller (4) Squeeze
Options :

51547543957, 1
61547543938, 2
61547543999, 3
E1547544000. 4

Question Number : 75 Question Id : 61547511285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST = Aed O O fRm = | &) FE A 2 e

(1) =8 3o (2) 79 AT
(3) T TER (4) T
Options :
61547543997, 1
61547543998 2
6154754359599 3
61547544000, 4

Question Number : 76 Question Id : 61547511286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following element 1s related to print making?

(1) Moulding (2) Agquatint
(3) Weaving (4) Gouache
Options :

61547544001, 1
61547544002, 2
61547544003, 3
E1547544004, 4

Question Number : 76 Question Id : 61547511286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferfera o & =9 =1 90 T # et 27

(1) =3 (2) Il
(3) == (4) M=
Options :

61547544001, 1
61547544002, 2
61547544003, 3
E1547544004, 4

Question Number : 77 Question Id : 61547511287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who has popularized colour viscosity printing from the following?

(1) Carol summers (2) Paul Lingran
(3) Stanley Hayter (4) Wilham Blake
Options :

51547544005, 1
51547544006, 2
61547544007, 3
61547544008, 4

Question Number : 77 Question Id : 61547511287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foifra °© O 5o Fon fSewtadt fufen =1 aetm s ?

(1) 0 wod (2) uie e
(3) =] T?'FLT (4) Tt ==
Options :

E1547544005. 1
61547544006, 2
61547544007, 3
61547544008, 4

Question Number : 78 Question Id : 61547511288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The levigator machine 1s used for

(1) Scratching plastic (2) Carving wood block
(3) Graining litho stone (4) Secreen printing
Options :

61547544009, 1
E1547544010. 2
E1547544011. 3
615475440172, 4

Question Number : 78 Question Id : 61547511288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E154754400%3. 1
51547544010, 2
61547544011, 3
E154754401%. 4

Question Number : 79 Question Id : 61547511289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the common factor in Mezzotint and drypoint :

(1) Hardness (2} Softness
(3) Flatness {4) Dryness
Options :

E1547544013. 1
61547544014, 2
61547544015 3
61547544016, 4

Question Number : 79 Question Id : 61547511289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) FEA] (2) dz@
(3) T (4) SRl
Options :

E1547544013. 1
61547544014, 2
61547544015 3
61547544016, 4

Question Number : 80 Question Id : 61547511290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“Knight, death and the devil” 1z created by

(1) Albrecht Durer (2) Francisco Goya
(3) Rambrandt (4) Toulouse lautree
Options :

61547544017, 1
E1547544015. 2
E1547544013. 3
61547544020, 4

Question Number : 80 Question Id : 61547511290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

152, U US 2 Siae el Fid 7 7

(1) =952 530 (2)  STTEE T
3 T (4) A" FAF
Options :

B1547544017. 1
51547544018, 2
61547544015 3
61547544020, 4

Question Number : 81 Question Id : 61547511291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the artist who made the series ‘wounds’

(1) Anupam Sud (2) Somnath Hore
(3) Sanat Kar (4) Laxma Goud
Options :

61547544021, 1
61547544022 2
61547544023, 3
61547544024, 4



Question Number : 81 Question Id : 61547511291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1) ™IS (2) =T ER
(3) T FW (4) =&AT T
Options :

61547544021, 1
E1547544022. 2
61547544023, 3
61547544024, 4

Question Number : 82 Question Id : 61547511292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What kind of an image 1s reproduced 1n offset printing?

(1) Exactly same (2) Reverse
(3 Upside down (4) Reduced
Options :

61547544025 1
61547544028, 2
E1547544027. 3
E1547544028. 4

Question Number : 82 Question Id : 61547511292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEEe Tufen 7 e TR 1 5[ A e =11 2 7

S & fiken
(3)  TfaeH (4) =HFA

Options :

61547544025, 1
61547544026, 2
61547544027 =
61547544028, 4



Question Number : 83 Question Id : 61547511293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The font of "‘Amul’ 1s known as

(1) logo type (2) s=1gn
(3) symbol (4) mark
Options :

61547544029, 1
E1547544030. 2
E1547544031. 3
61547544032, 4

Question Number : 83 Question Id : 61547511293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"HHA Wi FiatEa 5 3 5 g5 & A B 7

(1) AR 2= (2) TOEA
(3) fam=Te (4) @
Options :

B1547544023. 1
51547544030, 2
61547544021, 3
61547544032, 4

Question Number : 84 Question Id : 61547511294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The depiction of four lions on Sarnath Pillar i1s known as

(1) National logo (2) National symbol
(3) National emblem (4) National Sign
Options :

51547544033, 1
61547544024, 2
61547544035, 3
E1547544036. 4

Question Number : 84 Question Id : 61547511294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

AT TAH F 9E I 6 AlRE H FEfaiEg § 5 e am g o 2 e

(1)  7F= = (2) e o
(3) A T (4) = AT
Options :

61547544033, 1
61547544024, 2
61547544035, 3
61547544036, 4

Question Number : 85 Question Id : 61547511295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ascender and Descender are related to

(1) Layout making (2) Printing process
(3)  Photography (4) Typography
Options :

E1547544037. 1
51547544038, 2
51547544035, 3
61547544040, 4

Question Number : 85 Question Id : 61547511295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“AREF 9 AGEF Meteiad 3 O oy gaitg 2 7
(1) A= fmio (2) A= T
(3) T (4) HEEE

Options :

61547544037, 1
61547544038, 2
61547544039 3
61547544040, 4

Question Number : 86 Question Id : 61547511296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Serigraphy word 1s used for which kind of printing technique

(1) Letter press (2) Gravure printing
(3) Silk screen (4) Lithography
Options :

61547544041 1
61547544042 2
61547544042, 3
E1547544044, 4

Question Number : 86 Question Id : 61547511296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

- . - e - ro- 3 -, L
HOTTR Ieg FETaad B | T9E TR S D913 & Tol0, T B 7 ¢

(1) «e=um (2) w=w fafen
(3) T =hH (4) fagmTH
Options :

61547544041 1
61547544042 2
E1547544043. 3
E1547544044, 4

Question Number : 87 Question Id : 61547511297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Planography 1s related to which printing process?

(1) Serigraphy (2) Intaglio
(3) Letter press {4) Rotogravure
Options :

E1547544045 1
51547544046, 2
61547544047, 3
61547544045, 4

Question Number : 87 Question Id : 61547511297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AR AT ¥ O R ouTE iR o geihd 2 7

(1) =T (2) sASTEHE
(3) S dm (4) TZH=R
Options :

61547544045 1
E154754404E, 2
E1547544047. 3
51547544045, 4

Question Number : 88 Question Id : 61547511298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

After using four colours when we use another colour in printing 1s called

(1) 4+1 colour in offset (2) five colour printing
(3) Extra colour (4) Special colour
Options :

E1547544043 1
51547544050, 2
51547544051, 3
61547544052, 4

Question Number : 88 Question Id : 61547511298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AW T F AR T @I H G T H TN F Al 39 T FE A R 7

(1) AFHEH4L+ 1T (2) i o1 F TR
(3) St T (4) TEmo
Options :

615475440459 1
61547544050, 2
E1547544051. 3
E1547544052. 4

Question Number : 89 Question Id : 61547511299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“Folder” comes under which category of advertising

(1) Transit advertising (2)  Outdoor advertising
(3) Direct mail (4) Stationary design
Options :

E1547544053. 1
E1547544054. 2
61547544055, 3
61547544056, 4

Question Number : 89 Question Id : 61547511299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) PR R ERIRE (2) =me & T
(3) W A (4) == ATFA

Options :
1547544053 1

E1547544054. 2
E1547544055. 3
51547544056, 4

Question Number : 90 Question Id : 61547511300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“Hicky Gazette” 1s also known as

(1) Bnitish Gazette (2) India Gazette
(3) Bengal Gazette (4) Calcutta Gazette
Options :

61547544057, 1
61547544058, 2
61547544059, 3
E1547544080. 4

Question Number : 90 Question Id : 61547511300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  Tofzs 7= (2) sfE=m T=e
(3) A T (4) FTFAT T2
Options :

B1547544057. 1
61547544058, 2
61547544059, 3
61547544080, 4

Question Number : 91 Question Id : 61547511301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Buddhist sites which flourished under Kushana period are situated at :

(a) Kankal Tila. Mathura
(b) Bharhut
(c) Sanghol

(d) Peshawar

Choose Correct option :

(1) {a). (b). and (c) are correct
(2) {(b). (c). and (d) are correct
(3) (a). (c). and (d) are correct

(4) {(d). (a). and (b) are correct

Options :

61547544061, 1
61547544062 2
61547544062 5
61547544064, 4

Question Number : 91 Question Id : 61547511301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(b) W
(c) p=iotrc
(d)  dumER

(1)  (a). (b) 7 (c) 7= 7
(2)  (b). (c) = (d) TF1 =
(3)  (a). (c) 3 (d) =7l 7

@) (). (a) 3% (b) 7 7

Options :

61547544061, 1
61547544062, 2
615475440632 2
61547544064 4

Question Number : 92 Question Id : 61547511302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Paintings of renaissance period are famous for:

(a) Linear perspective
(b) Chiazoscuro
(c) Fast motion

(d) Naturalism of form

Choose correct option :

(1) (a). (b). and (c) are correct
(2) (b). (¢). and (d) are correct
(3) (c). (d). and (a) are correct

(4) (a). (d). and (b) are correct

Options :
1547544085 1

E1547544068, 2
61547544067, 3
51547544088, 4

Question Number : 92 Question Id : 61547511302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS oA faehe (a5 ® R o uiag 2 7
(a) T TfmEm
(b) BT AT

(c) EIGEIG

(d) TS TN

(1) (@), (b) # (c) T=1 &
2)  (b). (c) FT (d) T B
(3)  (c), (d) #T (a) T =

(4)  (a). (d) ¥ (b) TA 7

Options :

61547544065, 1
61547544066, 2
61547544067 2
61547544068, 4

Question Number : 93 Question Id : 61547511303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following component of architecture of temples in Odisha 1s known as Kalinga

style?
(a) Jagmohan
(b) Amlak

(c) EKhapur
(d) Anushringa
Choose correct option :

(1) (a). (b). and (c) are correct

(2) (b). (c). and (d) are correct

(3) (c). (d). and (a) are correct
(4) (a). (d). and (b) are correct
Options :

E154754406%3. 1
E1547544070. 2
61547544071, 3
61547544072, 4

Question Number : 93 Question Id : 61547511303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



'- - 2 ol n : i el e 2. £ x ! [ e =1 [ B =
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(a) THTE

(b) ATHTS

() =TI
(d)  =EF

(1)  (a). (b) 37T (c) @& 7
(2)  (b). (c) ¥ (d) TF =
(3) (). (d) =17 (a) T= &

(4)  (a). (d) FT (b) T 7

Options :

E15475440639. 1
E1547544070. 2
£154r544071. 3
£1547544072 4

Question Number : 94 Question Id : 61547511304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Famous monuments of Indo-Islamic period within the premise of Qutub complex are :

(a) Sultan garhi
(b) Alal Darwaza
() Alai Minar

(d) Quwwat ul Islam Mosque

Choose correct option :

(1) (a). (b). and (c) are correct
(2) (b). (c). and (d) are correct
(3) (a). (c). and (d) are correct

(4) (a). (b). and (d) are correct

Options :

61547544073, 1
61547544074 2
61547544075 2
61547544076, 4

Question Number : 94 Question Id : 61547511304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FS TCEL = T H SRS TG 55I-SEA e T E

(a) Hed el
(b) HeATS gl

(c) AR HAR

(d) Fedd 31 HTH e Fc 1

e e =4
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(4) (). (b) #T (d) ==l 7

Options :

61547544073 1
61547544074, 2
61547544075 5
61547544076, 4

Question Number : 95 Question Id : 61547511305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which art forms are considered 1n visual arts?

(a) Painting
(b) Sculpture
(c) Dance
(d) Architecture
Choose the correct option :
(1) {(a). (b). and (c) are correct
(2) {(a). (b). and (d) are correct
(3) (b). (c). and (d) are correct
(4) (a). (c). and (d) are correct
Options :
61547544077 1
615475440738 2

E15475440738. 3
E1547544050. 4

Question Number : 95 Question Id : 61547511305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
1547544077 1
61547544075 2

61547544073, 3
E1547544020. 4

Question Number : 96 Question Id : 61547511306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Somnath Hore 1s known as

{(a) Print maker
(b) Ayt eritic and historian
{c) Painter

(d) Sculptor

Choose the correct option from the following :

(1) (a). (b). and (d) are correct
(2) (a). (¢). and (d) are correct
{(3) (b). (c). and (d) are correct
(4) (a). (b). and (c) are correct
Options :

61547544051, 1
61547544082, 2
61547544083, 3
61547544054, 4

Question Number : 96 Question Id : 61547511306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  (a). (c) 311 (d) #F 7
(3)  (b). (c) 3 (d) =F =

(4)  (a). (b) 377 (c) TFT 2

Options :

£1547544081. 1
E1547544082. 2
£1547544083. 3
15475440584, 4

Question Number : 97 Question Id : 61547511307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which techmique was used by Max Ernst in his work?

(a) Montage

(b) Frottage
(c) Fresco
(d) Collage

Choose the correct option from the following:

(1) (a). (b). and (c) are correct

(2) (a), (b), and (d) are correct

(3) (a). (c). and (d) are correct
(4) (b). (¢). and (d) are correct
Options :

E1547544085. 1
E1547544086. 2
61547544087, 3
51547544085, 4

Question Number : 97 Question Id : 61547511307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544055 1
61547544056, 2
61547544087, o
61547544088, 4

Question Number : 98 Question Id : 61547511308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The technical examination of a painting to ascertain the under paint layers and drawing 1s
called-

(a) X-ray analysis

(b) Ultra -violet analysis

(c) Xerox reflectography

(d) Infra red photography

Choose the correct answer from the codes given below :

(1) (a). (¢), and (d) are correct
(2) (b). (c). and (d) are correct
(3 (a). (b). and (d) are correct
(4) (¢). (a). and (b) are correct

Options :

5615475440589, 1
61547544090 2
61547544051 =
61547544092, 4

Question Number : 98 Question Id : 61547511308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544089, 1
61547544090 2
61547544091, =
61547544092 4

Question Number : 99 Question Id : 61547511309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Mughal miniature of Akbar’s period 1=z referred to

(a) Book binding called ‘Muragga’

ib) IMlustrations such as Razmnama and Akbarnama
(c) Library workshops called ‘Katabkhanas

(d) IMlustration of ‘Ragmala’

Choose the correct answer from the codes given below

(1) (a). (b). and (d) are correct
(23 (a). (e), and (d) are correct
(3) (b). (c). and (d) are correct
(4) (a). (b). and (c) are correct
Options :

E1547544083. 1
E1547544054. 2
61547544085 3
51547544036, 4

Question Number : 99 Question Id : 61547511309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  (a). (c) #T (d) =7l 7

(3)  (b). (c) ¥ (d) T &

4)  (a), (b) I (c) TA 7

Options :

61547544093, 1
61547544094 2
615475440585 3
61547544096, 4

Question Number : 100 Question Id : 61547511310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which caves of Ajanta are famous for 1ts murals?

(a) Twenty nine caves
(b) Five Chaityas
(c) All Viharas

(d) The numbers were given by Mr. Fergusson

Choose the correct answer from the codes given below :

(1) (a). (b). and (c) are correct
(2) (b). (c). and (d) are correct
(3) {(a). (b). and (d) are correct

(4) (a). (c). and (d) are correct

Options :

61547544097, 1
61547544098, 2
61547544099 =
61547544100, 4

Question Number : 100 Question Id : 61547511310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3)  (a). (b) 37 (d) #F 7
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Options :

61547544097, 1
61547544098, 2
61547544059 2
61547544100, 4

Question Number : 101 Question Id : 61547511311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R.G. Collingwood was a

(a) British Sculptor
(b) British Philosopher
(c) Art Historian

(d) British painter

Choose the correct option from the following:

(1) (a) and (c) are correct
(2) (a) and (b) are correct
(3) (b) and (¢) are correct

(4) (c) and (d) are correct

Options :

61547544101, 1
61547544102 2
61547544102 =2
61547544104 4

Question Number : 101 Question Id : 61547511311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  (a) #F (b) TAT 7
(3)  (b) =T (c) 7l 7

4) () 3R (d) =H

Options :

61547544101, 1
61547544102 2
61547544103 =
61547544104 4

Question Number : 102 Question Id : 61547511312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the art works of Rodin as given below

(a) The age of Bronze
(b) The Thinker
(c) Cloud Gate

(d) The Burghers of Calais

Choose the correct option from the following:

(1) (a). (b). and (c) are correct
(2) (a). (b). and (d) are correct
(3) (b). (). and (d) are correct

(4) (a). (c), and (d) are correct

Options :

61547544105, 1
61547544106, 2
61547544107 3
61547544105 4

Question Number : 102 Question Id : 61547511312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4)  (a). (c) ¥T (d) TA 32

Options :
15475441051

E1547544106. 2
51547544107, 3
61547544108, 4

Question Number : 103 Question Id : 61547511313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In 1941 American sculptor Louise Nevelson experimented with

(a) Traditional Art form
(b) Tribal Art form
(c) Kinetic sculpture

(d) Light and sound

Choose the correct option from the following :

(1) {a) and (c) are correct
(2) (b) and (d) are correct
(3) {c) and (d) are correct
(4) (b) and (c) are correct

Options :

61547544109, 1
61547544110 2
61547544111, 2
61547544112 4

Question Number : 103 Question Id : 61547511313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  (b) #AF (d) TFI 3
(3) (o) ¥FF (D) TR

(4)  (b) 3T (c) TH1 7

Options :

61547544109, 1
61547544110 2
61547544111, 5
61547544112 4

Question Number : 104 Question Id : 61547511314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the name of persons. known as painter as well as sculptor

(a) Chinthamam EKar
ib) EBhabesh Chandra Sanval
{c) Sunil Pal

id) Madhav Bhattacharyva

Choose the correct option from the following :

(1) {a). (c). and (d) are correct

(2) {b). (c). and (d) are correct

(3) {a). (b). and (d) are correct
i(4) {a). (b). and (c) are correct
Options :

615475441121
61547544114 2
61547544115 3
61547544116 4

Question Number : 104 Question Id : 61547511314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475441131
61547544114 2
61547544115 =
61547544116, 4

Question Number : 105 Question Id : 61547511315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The process of ‘Resinous’ 1s used for alloying to

(a) Achieve additional strength and hardness
(b} Alter colour or appearance
(c) Increase resistance to corrosion

(d) Make easy for transportation

Choose the correct option from the following :

(1) (a). (c). and (d) are correct
(2) (b). (c). and (d) are correct
(3) (a). (b). and (c) are correct

(4) (a). (b). and (d) are correct

Options :

£1547544117. 1
61547544115 2
61547544119, 5
61547544120 4

Question Number : 105 Question Id : 61547511315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544117, 1
61547544118 2
61547544119 2
61547544120 4

Question Number : 106 Question Id : 61547511316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



K.G. Subramanyam was known as :

(a) Painter
(b) Sculptor
(c) Print maker

(d) Film maker

Choose the correct option :

(1) (a). (b) and (¢) are correct
(2) (b). (d) and (a) are correct
(3) (b). (a) and (d) are correct

(4) (d). (e¢) and (b) are correct

Options :

61547544121, 1
61547544122 2
61547544123 3
61547544124 4

Question Number : 106 Question Id : 61547511316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544121, 1
61547544122 2
61547544123 =
61547544124 4

Question Number : 107 Question Id : 61547511317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who were the founder members of “Group-87

(a) Lakshmi Dutta
(b) Jagadish De
(c) Ratan Parimoo

(d) Jagmohan Chopra

Choose the correct option :

(1) (a). (c) and (d) are correct
(2) (c). (b) and (a) are correct
(3) (b). (c) and (d) are correct

(4) (d). (b) and (a) are correct

Options :

51547544125, 1
61547544126 2
61547544127, =
615475441258 4

Question Number : 107 Question Id : 61547511317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544125, 1
61547544126 2
61547544127 2
615475441258 4

Question Number : 108 Question Id : 61547511318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence of intaglho printing :

(a) Plate
(b) Felt

(c) Ground
(d) Paper

The correct option 1s :

(1) {d). (b) and (¢) are correct

(2) (b). (d) and (a) are correct

(3) (a). (c) and (d) are correct
(4) (c). (b) and (a) are correct
Options :

E1547544129. 1
51547544130, 2
61547544121, 3
61547544132 4

Question Number : 108 Question Id : 61547511318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544129 1
61547544130 2
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61547544132 4

Question Number : 109 Question Id : 61547511319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence 1n wood cut process

(a) Engraving
(b) Drawing
(c) Inking

(d) Casting

The correct option 1s :

(1) (a). (b) and (d) are correct
(2) (b). (a) and (¢) are correct
(3) (d). (c) and (a) are correct

(4) (a). (d) and (b) are correct

Options :

£1547544132. 1
£1547544134. 2
£154r544135. 3
£1547544136. 4

Question Number : 109 Question Id : 61547511319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
15475441321

E1547544124. 2
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51547544136, 4

Question Number : 110 Question Id : 61547511320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the printmakers as mentioned below :

(a) Sanat Kar
(b) Laxma Gaud

(c) Jogen Choudhary

(d) R. Shiv Kumar

The correct option 1s :

(1) (a). (c) and (d) are correct
(2) (b) and (a) are correct
(3) (b) and (d) are correct
(4) (a) and (b) are correct

Options :

61547544137, 1
61547544138 2
61547544139 2
61547544140, 4

Question Number : 110 Question Id : 61547511320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544137, 1
61547544138 2
615475441329 2
61547544140, 4

Question Number : 111 Question Id : 61547511321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the elements must be kept 1n mind when you make outdoor advertisement?

(a) Bold picture
(b) Location of advertisement
(c) Packaging

(d) Distribution

Choose the correct option :

(1) (b) and (d) are correct

(2) (a) and (b) are correct

(3) (d) and (¢) are correct

(4) (c) and (a) are correct
Options :

61547544141, 1
E1547544142 2
51547544143 3
61547544144 4

Question Number : 111 Question Id : 61547511321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£1547544141. 1
E154r544142 2
£1547544142. 3
£1547544144. 4

Question Number : 112 Question Id : 61547511322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of these combinations are related to file format?

(a) CMYK
(b) PNG
(c) GIF
(d) RGB

Choose the correct option :

(1) (d) and (a) are correct
(2) (a) and (b) are correct
(3) (c) and (d) are correct

(4) (b) and (d) are correct

Options :

61547544145, 1
61547544146 2
61547544147 =
61547544145 4

Question Number : 112 Question Id : 61547511322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544145 1
61547544146 2
61547544147, 5
61547544148 4

Question Number : 113 Question Id : 61547511323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“Story board” 1s related to

(a) Ilustration

(b) Editing

(c) Amimation

(d) Documentation

Choose the correct option :

(1) (b) and (c) are correct

(2) (d) and (c) are correct

(3) (d) and (a) are correct

(4) (a) and (b) are correct
Options :

61547544149 1
61547544150, 2
E1547544151. 3
51547544152, 4

Question Number : 113 Question Id : 61547511323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) =9 ==

(b) =W
{cj In""\-\. -.u,.
(d) T l'c'.l-#’f-l-;l.ﬂi—i_}

:':l_F:"T EET _F_FI 3

(1)  (b) 377 (o) 7FI &
(2)  (d) FE (c) T &
(3) (d) @R (a) 7 7

(4)  (a) ¥ (b) =5 7

Options :

61547544149, 1
61547544150 2
61547544151, =
61547544152 4

Question Number : 114 Question Id : 61547511324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



International paper size 1s

(a) A1 size
(b) As size
(c) Demy size
(d) Crown s1ze

Choose the correct option :

(1) (c) and (a) are correct

(2) {a) and (b) are correct

(3) (c) and (d) are correct

i(4) {d) and (a) are correct
Options :

615475441531
61547544154, 2
61547544155 3
E1547544156. 4

Question Number : 114 Question Id : 61547511324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS T ATUEE TN 7

(a) A; Size

(b) A Size

(c) Demy size
(d) Crown Size

(1) () #7 (a) 781 7
(2)  (a) 377 (b) FAT &
(3) () ¥ (d) TF1 3

(4)  (d) 317 (a) TFT 2

Options :

£1547544153 1
61547544154 2
61547544155 5
61547544156 4

Question Number : 115 Question Id : 61547511325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Letter press 1s related to

(a) Hot types
(b) Cold types
(c) Negative Plate

(d) Solid tone

Choose the correct option :

(1) (a) and (d) are correct
(2) (b) and (c) are correct
(3) (a) and (c) are correct

(4) (d) and (b) are correct

Options :

£154r544157. 1
E1547544158. 2
£154r544159. 3
£154r544160. 4

Question Number : 115 Question Id : 61547511325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) BIZ Z1EH
(b)  Fcs ZEH
{CJ '-.'.E-:_ L >

-

(d)  Hites 74

(1) (a) =@ (d) == 7
(2)  (b) 3 (c) WA 7
(3) (a) 3N (c) =7l &

(4) (d) #T (b) Tl 7

Options :

61547544157, 1
61547544155 2
61547544159, 5
61547544160 4

Question Number : 116 Question Id : 61547511326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
(a) Rishabhnath (11 Conch (Shankh)
(b) Parshvanath (1) Bull
(c) Mahawvir (111) Snake
(dy Neminath (iv) Lion

Choose the correct option :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(iv). (b)-(1i1). (e)-(i1), (d)-(i)
(3) (a)-(11). (b)-(111), (c)-(iv), (d)-(1)
(4) (a)-(111). (b)-(1v). (c)-(1), (d)-(11)

Options :

L15475441681. 1

15475441682 2

61547544162, 3
E1547544164. 4

Question Number : 116 Question Id : 61547511326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T-1 1 FE-1LH Fefe

=1 FEI-11
(a) FIHAY i) w3
(b) TEE ™ (i) ==
(¢) wEER (iii) =79
(d) = (iv) Ta=

T TaeT =

(1) (a)-(1), (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)
(3) (a)-(11). (b)-(111). (c)-(1w). (d)-(1)

(4) (a)-(111). (b)-(v). (¢)-(2). (d)-(i1)

Options :
1547544181, 1

E1547544162. 2
E1547544163. 3
61547544164, 4

Question Number : 117 Question Id : 61547511327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Ilast I with List IT

List I List IT
(a) Realist mamfesto (1) Hugo Ball and Tristan Tzara
(b) Futuristic mamfesto (1) Gustave Courbet
{c) Cubist manifesto (1) Albert Gleizes and Jean Metzizer
(d) Dada manifesto (1v) Filippo Tommaso Marinetti

Choose the correct option :

(1)  (a)-(1). (b)-GQv). (e)-(1). (d)-(111)
(2) (-1, (b)-({v). (e)-(11), (d)-(1)
(3)  (a)-(u). (b)-). (e)-(v), (d)-(1)
4 (2)-0). (b)-Gv). (0)-(1). (d)-(11)

Options :

61547544165, 1
61547544166 2
61547544167, 2
61547544168 4

Question Number : 117 Question Id : 61547511327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=1-1 =1 F-11 5 HHfAd

-1 T I
(a) Teafeee afe (1) =TT = 3 P qA
(b) EERfzF JHEF (i) TETE T
(c) T HFTE= (iii) Fewe o AR A Hataew
(d) == AR (iv) Thfera zar At

(1) (@-1). (®)-av). (©)-Q). (d)-(1i1)
2)  (a)-(1). (b)-Gv). (c)-(1), (d)-(1)
(3)  (a)-(u). (b)-(). (0)-(1v). (d)-(1)
4 (@)-@). (b)-Gv). (e)-(1). (d)-(111)

Options :

61547544165, 1
61547544166 2
61547544167 2
61547544165 4

Question Number : 118 Question Id : 61547511328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List1 List IT
(a) Abstract speed (11 Nandlal Bose
(b) City square (1) Gicomo Balla
(¢) Ramayana (m) Jamim Roy
(d) Head of Shiva (1v) Alberto Glocomettl

Choose the correct option :

(1) (2)-). (b)-(ii1}. (c)-(1), (d)-(v)
(2)  (a)-(id). (b)-(11). (c)-{). (d)-(iv)
(3)  (a)-G1). b)-(iv). (e)-(iid), (d)-(1)
(4) (2)-(1v). (b)-(11). (c)-(1). (d)-(111)

Options :

51547544169, 1
61547544170 2
61547544171, =
61547544172 4

Question Number : 118 Question Id : 61547511328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=1-1 i F=-11 & Fafed #7 :

-1 T=1-11
(a) TEIZAZ TS (1)  Feere =
(b) Tadi = (i) HEHET =qF
(c) TR (1) S T
(d) =z AF = (iv) HAosAl SR

T o g

(1) (a)-(1). (b)-(it1). (c)-(1i). (d)-(1v)
(2) (a)-(111), (b)-(11), (c)-(1). (d)-(1v)
(3)  (a)-Gi). (b)-(v). (c)-(iii), (d)-(1)
(4) (a)-(w). (b)-(11), (¢)-(1), (d)-(111)

Options :

61547544169, 1
61547544170 2
61547544171, =
61547544172 4

Question Number : 119 Question Id : 61547511329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

List I List IT
(a) Shape (1  Three dimensional
(b) Form (1) Two dimensional
(c) Value (111) Look and feel of wholeness
(d) Umty (tv) Hue's hightness and darkness

Choose the correct option :

(1) (a)-@. (b)-(11). (c)-(1), (d)-(v)
(2)  (@-(). (b)-av). (e)-0). (d)-{11)
(3)  (a)-(). (b)-(). (e)-(iv). (d)-(111)
@)  (a)-(v). (b)-(). (c)-(m1). (d)-(1)

Options :

£154r544172. 1
E154r544174. 2
£154r544175. 3
£1547544176. 4

Question Number : 119 Question Id : 61547511329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 =11
() T @ -z
®) = () -
(c) =M (iil) TomT = T =7 Ty
(d) Tl (iv) =9l digar = FEE S e

(1) (a)-(1). (b)-(111). (c)-(12), (d)-(1v)
(2) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(3)  (a)-(1). (b)-(). (c)-(iv). (d)-(ii1)
(4 (2)-v). (b)-(1d). (e)-(ild), (d)-(D)

Options :

615475441731
61547544174 2
61547544175 =2
61547544176 4

Question Number : 120 Question Id : 61547511330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

List I List IT
(a) Nagn Patel (1)  The Girl with flower
(b) G. Ravinder Reddy (1) And then what happened
(c) Pushpa Mala N (111) Man 1n a chalk circle
(d) N.N.Rimzon (iv) Banyan Gateway
Choose the correct option :

(1) (a)-(u). (b)-(v). (c)-(1), (d)-(11)
2)  (a)-G1). (b)-Gii). (e)-(iv). (d)-(1)
(3 (@)-). (b)-(i1). (e)-(i11). (d)-(iv)
@ (@-Gv). (b)-0). (©)-1). (d)-(i)

Options :

£1547544177. 1
61547544178 2
61547544179, 5
61547544180 4

Question Number : 120 Question Id : 61547511330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 FE-I1 ® Hefed 1

TH1-1 -1
(a) FAPTS HeA i) =7 faE T
() . T i (i) TUT TR TS
(c)  IoqHTEN A (iii) 9 =1 | TiF T
(d) vA.EA. fo Gv) = T

(1) (a)-Gi), (b)-(iv), (c)-(1), (d)-(i1)
(2)  (a)-(1). (b)-(i). (¢)-(v), (d)-()
(3)  (a)-Q). (b)-(i). (c)-(ii), (d)-(iv)
(4) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)

Options :

61547544177, 1
61547544178 2
61547544179 3
61547544150, 4

Question Number : 121 Question Id : 61547511331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List-T with List-IT

List I Last IT
(a) Alberto Glocometta (1) The White Bride
(b) Eduardo Paolozzi (1) Figure with raised arm
(c) Andrea Cascella (m) Japanese War God
(d) Georg Baselitz (iv) City square. 1948-49

Choose the correct option:

(1) (@-w). (b)-(11). (c)-(2). (d)-()
2) (-G, (b)-@). (¢)-(i), (d)-(iv)
3)  (@-0. (b)-(D), (0)-(Gv), (d)-(iD)
(4) (a)-(11). (b)-(iv). (c)-(1n), (d)-(1)

Options :

615475441581, 1
61547544182 2
615475441383 =2
61547544154 4

Question Number : 121 Question Id : 61547511331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 1 F=-I0 F gafe

=1 =111
(a) HAeEEl ST (1) < ==Ee §Es
(b) TZHTST TS (i) TFr &y =z =
(¢) Uiz FHa (i) ST T ZAa
(d) FH Az (iv) o1 TP, 1948-49

(1) (a)-(1v). (b)-(1m1). (¢)-(@). (d)-(11)
(2) (a)-(11), (b)-(1), (c)-(11), (d)-(v)
(3) (a)-(1). (b)-(11). (e)-(v). (d)-(111)

(4) (a)-(11), (b)-(v), (c)-(111). (d)-(1)

Options :

615475441581, 1
61547544182 2
615475441383 =2
61547544154 4

Question Number : 122 Question Id : 61547511332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List-I with Last-IT

ListI List IT
(a) Butterfly formation (1)  Jyoti Bhatt
(b) Woman and Goat (11) Somnath Hore
(c) Dewn1 (1) N. Krishna Reddy
(d) The Echpse (iv) K. Laxma Goud

Choose the correct option :

(1)  (a)-(1). (b)-(). (e)-(i11). (d)-(v)
(2) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)
(3) (a)-(11), (b)-(1v). (¢)-(1), (d)-(11)
(4) (a)-(1). (b)-(11), (e)-(iv). (d)-(1i1)

Options :

1547544155 1

E1547544186. 2

61547544187, 3
E15475441858. 4

Question Number : 122 Question Id : 61547511332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 3T J.-p:ﬁ-IIfr ﬂ%!rédn FITAT;

THI-1 a1
(a) FETFCTE FHIA () = 9
(b) TAA TS T (i) =" B
() = (i) . F i
(d) = oiFaH (iv) . SEHT TS

'Fl?-ﬁ E-.']'ﬂﬁr_"-i _'3;:‘. i

(1)  (a)-(i). (b)-(). (¢)-(iii). (d)-(iv)
(2)  (a)-(iv). (b)-(ii1). (¢)-(i1). (d)-(1)
(3) (a)-(1), (b)-(v). (¢)-(1), (d)-(12)
(4) (a)-(1). (b)-(11), (e)-(iv), (d)-(111)

Options :

61547544185, 1
61547544186 2
61547544187, 2
61547544155 4

Question Number : 123 Question Id : 61547511333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List-T with List-II

ListI List IT
(a) Stanley Willilam Hayter (1)  Dutch Printmaker
(b) Rembrandt (1) Spamsh Printmaker
(¢) Albrecht Durer (111) British Printmaker
(d) Francisco Goya (1v) German Printmaker

Choose the correct option :

(1) (@)-(m), (b)-(1). (¢)-(v), (d)-(11)
(2) (a)-(11). (b)-(1). (e)-(av). (d)-(111)
(3)  (a)-(u). (b)-Q). (c)-(11). (d)-(v)
@ @-0. G)-0v). (©-1). (d)-11)

Options :

£154r5441839. 1
£1547544190. 2
£154r5441391. 3
E154r544192. 4

Question Number : 123 Question Id : 61547511333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 S =11 =1 oo =it

T=l-1 =111
(a) T Tafermm 2ot (i) =9 UEaE
(b) iz (i) T feaE
(¢) HosiFz ST2 (iii) fefzer Tz
(d) IfEER T (iv) =HA fozHe

(1) (a)-(Gii). (b)-(1). (e)-(v). (d)-(id)
@ (@-Gi). 0)-@). (e)-(iv)., (d)-(ii)
(3) (a)-(11), (b)-(1). (c)-(11), (d)-(1v)
4 (a)-(1). (b)-(v). (c)-(11). (d)-(111)

Options :

61547544189, 1
61547544190 2
61547544191, =
61547544192 4

Question Number : 124 Question Id : 61547511334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last-I with Tast-IT

ListI List IT
(a) Prasoon Joshi ()  Actor
(b) Shahid Kapoor (1) Photographer
(c) Pradeep Sarkar (1) Censor Board
(d) Awvinash Pasricha (iv) Ad. Maker

Choose correct option :

(1) (a)-(i11). (b)-(av). (e)-(11), (d)-(1)
2 (@-). (b)-G1). (c)-Gi1), (d)-(v)
(3)  (a)-(u). (b)-(2). (e)-(v), (d)-(11)
(4) (a)-(v). (b)-(111). (c)-(1). (d)-()

Options :
15475441921

E15475441394. 2
515475441395 3
615475441396, 4

Question Number : 124 Question Id : 61547511334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



F-1 31 g1 1 gafer =it

T=i-1 TI-11
(@) A A G)  sfeEa
(b) TNfEE FE (ii) HIETETHE
(c) W& AR (i) HE &3
(d) A TE (iv) Tasmoa

(1)  (a)-u). (b)-(v). (c)-(11). (d)-(1)
(2 (@-(). (b)-Gi). (e)-(ii). (d)-(iv)
(3) (a)-(11), (b)-(1). (c)-(1v), (d)-(1m)
(4 (@)-Gv). (b)-(iid). (c)-(i1). (d)-@)

Options :

61547544193 1
61547544194 2
615475441495 2
61547544196, 4

Question Number : 125 Question Id : 61547511335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct size of paper :

(a) Royal Gy 29" ae?
(b) Ivory (1) 4.1 x 5.8"
(c) Imperial (i) 25" x 20"
(d) As (iv) 22" x 30"

Choose the correct option :

() (a)-(d). (b)-@). (@)-v). (d)-(D)
(2)  (a)-(). (b)-av). (¢)-(i11). (d)-(1)
(3)  (a)-(v). (b)-(id). (c)-(i). (d)-(1)
4 (@-). (b)-(v). (e)-(1). (d)-(111)

Options :

B1547544167 1
615475441495 2
61547544199, 5
61547544200, 4

Question Number : 125 Question Id : 61547511335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) TEw 1 22" x 28"
(b) = G) 4.1" x 58"
(¢) SHRMEw (i) 25" x 20"
(d) As Gv) 227 » 30"

Tl e g

(1) (a)-11). (b)-(). (c)-(v), (d)-(11)
(2) (a)-(11). (b)-(1v). (e)-(111), (d)-(2)
(3)  (a)-(v). (b)-Gid), (¢)-Gi), (@)-(1)
4)  (a)-1). (b)-(v). (e)-(i). (d)-(iii)

Options :

B1547544167 1
615475441495 2
61547544199, 5
61547544200, 4

Question Number : 126 Question Id : 61547511336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct chronological sequence of artists

(a) Masaccio
(b) Donatello
(c) Botticelh

(d) Andrea del Verrocchio

Choose the correet option :

(1) (a). (b). (c). (d)
(2) (b). (a). (d). ()
(3) (a). (c). (b). (d)

(4) (b). (c). (a). (d)

Options :

61547544201, 1
61547544202, 2
615475442032 2
61547544204 4

Question Number : 126 Question Id : 61547511336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sy

{a_} b
(by =TS
(c) ElGE Gl

(d) TS = G

(1) (a). (b), (c). (d)
(2) (b (a). (d). ()
(3) (a). (c). (b). (d)

(4) (b). (c). (a). (d)

Options :
1547544201, 1

E1547544202. 2
61547544203, 3
61547544204, 4

Question Number : 127 Question Id : 61547511337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify correct chronological order of the following monuments :

(a) Alal Darwaza
(b) Taj Mahal
(c) Gol Gumbaz

(d) Humayun's Tomb

Choose correct option :

(1) (d). (e). (b). (a)
(2) (b). (c). (a). (d)
(3 (a). (b). (©). (d)

(4) (a). (d). (b). (c)

Options :

61547544205, 1
61547544206, 2
61547544207 2
61547544205 4

Question Number : 127 Question Id : 61547511337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) IS FEETHT

(b) AT TE

(d) A = HFEE

(1) (d). (c). (b). (a)
(2) (b). (e). (a). (d)
(3) (a). (b). (c). (d)

(4) (a). (d). (b), (c)

Options :

61547544205, 1
61547544206, 2
61547544207 2
61547544208, 4

Question Number : 128 Question Id : 61547511338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct order of the colours

(a) Megenta

(b) Yellow
(c) Cyan
(d) Black

The correct order 12 :

(1)  (a). ). (). (@)
(2) (). (a). (b). (d)
(3) (). (). (d). ()

(4) (c). (a). (d). (b)

Options :

61547544209 1
61547544210 2
61547544211, 5
61547544212 4

Question Number : 128 Question Id : 61547511338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T AR | 396 T F A9EE 1 F T6l F4 99

(a) EE
(b)  Few

(c) Eeeie
d) ww

D (@. (b). (0). (d)
(2) (o). (a). (b). (d)
(3) (b, (c). (d). (a)

(4) (c). (a). (d). (b)

Options :

£15475442089. 1
£1547544210. 2
£154r544211. 3
£1547544212. 4

Question Number : 129 Question Id : 61547511339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct sequence according to the period of the following art movements :

(a) Constructivism
(b) Realism
(c) Baroque

(d) Mannerism

The right sequence 1s :

(1) (). (d). (a). (b)
2)  (d). (e). (b). (@)
(3) (a). (b). (c). (d)

(4) (b). (a). (d). (c)

Options :

61547544213 1
61547544214 2
61547544215 3
61547544216 4

Question Number : 129 Question Id : 61547511339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) T=AERE

(b) YT

(c) TF
(d) =g

(1) (c). (d). (a). (b)
(2) (d). (c). (b). (a)
(3) (a). (b). (c). (d)

(4) (b). (a). (d). (e)

Options :

61547544213 1
61547544214 2
61547544215, 5
61547544216 4

Question Number : 130 Question Id : 61547511340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Following are the names of sculptures :

(a) Sarnath Buddha
(b) Yakshas
(c) Dancing Garl

(d) Shiva - Nataraj

Choose the correct sequence of the above sculpture in chronological order :

(1) (d). (c). (b). (a)
(2) (a). (d). (c). (b)
(3) (b), (a). (d). (c)

(4) (c). (b). (a). (d)

Options :

E154r544217. 1
E154r544218. 2
E154r544219. 3
1547544220 4

Question Number : 130 Question Id : 61547511340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(b) a2
(c) ST 7T

(d)  TTE-TEE

(1) (d). (e). (b). (a)
(2) (a). (d). (c). (b)
(3) (b). (a). (d). (&)

@ (©.®). (2. @

Options :

61547544217, 1
61547544218 2
61547544219 2
61547544220, 4

Question Number : 131 Question Id : 61547511341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Following are the names of sculptors :
(a)  Bermim

(b) Brunelleschi

(c) Hanson

(d) Matisse

Choose the correct sequence of the above sculptor according to their seniority :

(1) (c). (b). (a). (d)
(2) (b). (a). (d), (e)
(3) (a). (d). (c). (b)

(4) (d). (c). (b). (a)

Options :

61547544221, 1
61547544222 2
61547544223 =
61547544224 4

Question Number : 131 Question Id : 61547511341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl % A R #
(@)  #THT

(b)  wE=ET=l
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(d)y  =EE
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(1) (e). (b). (a). (d)
(2) (b). (a). (d). (e)
(3) (a). (d). (c). (b)

(4) (d). (c). (b). (a)

Options :

61547544221, 1
61547544222 2
61547544222 =2
61547544224 4

Question Number : 132 Question Id : 61547511342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct chronological order of print makers :

(a) Rambrandt
(b) Goya
(c) Edward Hopper

(d) James Ensor

Choose the correct order :

(1) (@) (b). (d). (c)
(2) (o). (a). (b). (d)
(3)  (a). (b). (d). (c)

(4) (d). (c). (b). (a)

Options :

61547544225, 1
61547544226 2
61547544227 o
615475442258 4

Question Number : 132 Question Id : 61547511342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TETJ:FI(*"_’TICEF‘F W Jlfhlr =l IIT’-.'Q[ =hltishH 1-_1Ir|-'-|[1. :

(a) 1m=me

(b) RHE!

{C) IJI.E_,-"]:.:. = 17

(d) 9 TR

(1) (@) (b). (d). (c)
(2) (). (a). (b). (d)
(3) (@) (b). (d). (c)

(4) (d). (c). (b). (a)

Options :

61547544225 1
61547544226 2
61547544227 3
61547544225, 4

Question Number : 133 Question Id : 61547511343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence 1n chronological order of printmakers :

(a) K.G. Subramanvan
(b) Somnath Hore
(c) Krishna Reddy

(d) Jyoti Bhatt

Choose the correct order:

(1) (a). (b). (). (d)
(2) (d). (a). (c). (b)
(3) (b). (a). (c). (d)

(4) (). (b). (d). (a)

Options :

61547544229, 1
61547544230 2
61547544231 =
61547544232 4

Question Number : 133 Question Id : 61547511343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a), (b). (c). (d)
(2) (d). (a). (c), (b)
(3) (b). (a). (e). (d)

(4) (c). (b). (d). (a)

Options :
1547544229 1

E1547544230. 2
B1547544231. 3
61547544232, 4

Question Number : 134 Question Id : 61547511344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence of process of communication

(a) Transmission
(b) Sender's meszage
(c) Meaning decoded

(d) Encoding

Choose the correct option :

(1) (b). (e), (d). (a)
(2) (a). (b). (c). (d)

(3) (b). (d). (a). (e)

4 (a). (b). (d). ()

Options :

£1547544253 1
61547544224 2
61547544235 5
61547544236 4

Question Number : 134 Question Id : 61547511344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) H=T
(b) T T2
(c) Y TIT ]

(dj -:i._‘;--fﬂ’-d il

(1) (b), (e). (d). (a)
(2) (a). (b). (). (d)
(3) (b). (d). (a). (¢)

(4) (a). (b). (d). (c)

Options :

£1547544232. 1
E1547544234. 2
E1547544235. 3
£1547544236. 4

Question Number : 135 Question Id : 61547511345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence to make an advertising campaign :

(a) Market Research
(b) Creative strategy
(c) Production

(d) Feedback of consumer

Choose the correct option :

(1) (a). (d). (b). (c)
(2) (c). (b). (d). (a)
(3) (d). (b). (a). (c)

(4) (). (b). (c). (d)

Options :

61547544237, 1
61547544238 2
61547544239 2
61547544240 4

Question Number : 135 Question Id : 61547511345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



el Tasms =719 1 9Eva 497 F Tel F9 H T5EE A

(a)  FER FFEGH

(b) TFATHT T

(c) AT
(d)  IT9F i wiage

(1) (a), (d). (b). (c)
(2) (c). (b). (d). (a)
(3) (d). (b). (a). (c)

(4) (a). (b). (c). (d)

Options :

61547544237, 1
61547544238 2
61547544239 2
61547544240 4

Question Number : 136 Question Id : 61547511346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Assertion (A): Indian Painting reached almost a dead end towards the close of the
19t century

Reason (R) : Both Late Mughal and Pahari schools exhausted theiwr creative spirit and

vitality due to lack of patronage.

Choose the correct option :

(1) (A) 1g correct and (R) 1s not correct
(2) (A) and (R) both are correct
(3) {A) and (R) both are not correct

(4) {A) 15 not correct but (R) 1s correct
Options :
15475442411
61547544242 2
615475447245 3
515475447244 4

Question Number : 136 Question Id : 61547511346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AHFH (A) ; WA foshen 19 = 75l % 3G ° e gane & g o
7% (R) : WA G HT RIS St ZA1 § IR GEATAE WIS SR S Eadl w1 5 ETE

ST F FE 52

(1) (A) 571 & 311 (R) |81 121 7
(2) (A R (R) A ## 7
(3)  (A) 3R (R) 241 =81 781 &

@ (A A T 2 e @)

Options :



E1547544241. 1
B154754424%2 2
61547544243 3
61547544244, 4

Question Number : 137 Question Id : 61547511347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Non Figurative beautecus creation parallel to musie 1s possible through
colours.

Reason (R) : Because 1t 15 not necessary to have an object analogv for an aesthetic
creatiorn.

Choose the correct option :

(1) {A) and (R) both are correct

(2) (A) 12 incorrect and (R) 1z correct

(3) (A) and (R) both are incorrect

(4) (A) 18 correct and (R) 1s incorrect
Options :
615475447245 1
E1547544248 2
61547544247 2
61547544245 4

Question Number : 137 Question Id : 61547511347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TF (R) : T faorg Fied gom F fom g =gya = s 9 2

(1) (A 3R (R) 3T 581 7
(2) (A) e F 30 (R) TR E
(3) (A) 31 (R) =1 7= &

(4 (A TAE E FA(R) T B

Options :

61547544245, 1
61547544246 2
61547544247 o
61547544245 4

Question Number : 138 Question Id : 61547511348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Assertion (A) :  Indian Traditional metal casting 1= categorized as ‘gravity cast’

Reason (R) : In ‘gravity cast’ molten metal 15 poured directly into the space of the burnt-

out wax

Choose the correct option :

(1) (A) and (R) both are incorrect
(2) (A) 12 correct and (R) 1s incorrect
(3) (A) 1= incorrect and (R) 1s correct

(4) (A) and (R) both are correct

Options :

61547544249 1
61547544250 2
61547544251 =2
61547544252 4

Question Number : 138 Question Id : 61547511348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (A) 317 (R) =4 7= 2

(2) (AT 2 3 (R) T 2

(3) (A) A 7 3 (R) 971 7

(4)  (A) R (R) A = 7

Options :

61547544249 1
61547544250 2
61547544251 3
61547544252, 4

Question Number : 139 Question Id : 61547511349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Assertion (A):  Wood cut have been a printmaking technique which 1s used extensively for

expression and publicity

Reazon (R) : Because wood 1s an easily available medium and easy to cut

Choose the correct option :

(1) (A) 1s correct and (R) 1= incorrect
(2) (A) 1s incorrect and (R) 1s correct
(3) (A) and (R) both are correct

(4) (A) and (R) both are incorrect

Options :

61547544253 1
61547544254 2
61547544255 5
61547544256 4

Question Number : 139 Question Id : 61547511349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (A 7= # &R (R) = #
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(3)  (A)FR(R) 31 =2 7
(4 (A = (R)FA T E

Options :

61547544253 1
61547544254 2
61547544255 3
61547544256, 4

Question Number : 140 Question Id : 61547511350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Assertion (A): DAVP has been working as a catalyst of social change and creating of an
awareness amongst masses for eradication of poverty and soclal evils In

Indian society

Reasons (R) : Because DAVP iz delegated to perform the funetion of a multi-media

advertising agency for the central government

Choose the correct option :

(1) (A) 1s correct. (R) 1s incorrect
(2) (A) 18 1incorrect. (R) 15 correct
(3) Both (A) and (R) are correct

(4) Both (A) and (R) are incorrect

Options :

61547544257, 1
61547544258 2
61547544259 3
61547544260, 4

Question Number : 140 Question Id : 61547511350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544257, 1
61547544258 2
61547544259 3
61547544260, 4

Sub-Section Number: 2
Sub-Section Id: 615475489
Question Shuffling Allowed : Yes

Question Id : 61547511351 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ



Sub questions

Question Number : 141 Question Id : 61547511352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the title of the painting?

(1) The expulsion (2) Chmrst with disciples
(3 The tribute money (4) Stealing money
Options :

61547544261, 1
E1547544262. 2
61547544263, 3
61547544264, 4

Question Number : 142 Question Id : 61547511353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What kind of perspective the artist has used in the paining?

(1) Linear perspective (2) Zero-point perspective
(3) Four-point perspective (4) Diagonal perspective
Options :

61547544265, 1
61547544266, 2
61547544267, 3
E1547544265. 4

Question Number : 143 Question Id : 61547511354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The theme of the pointing narrates the scene where

(1) Christ 1s pinting the man sitting 1n background

(2) The tax collector demanding the Toll Tex from Christ

(3) The man next to christ is accusing the man in the left corner
(4) The tax collector 1z arresting Christ

Options :

61547544269, 1
61547544270 2
61547544271 3
61547544272 4

Question Number : 144 Question Id : 61547511355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many episodes are depicted in the painting?

(1) One episode (2) Two episodes
(3 Three episodes (4) Four episodes
Options :

615475442731
61547544274, 2
61547544275 3
E154754427E. 4

Question Number : 145 Question Id : 61547511356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The man near the lake 1n the painting 1s

(1) Collecting money from the fish
(2) Catching the fish
(3) Searching money in the lake

(4) Inspecting the lake

Options :

1547544277, 1
61547544278 2
61547544279 2



E1547544280. 4

Question Id : 61547511351 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Cesticn Label | Comprehiension

Sub questions

Question Number : 141 Question Id : 61547511352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=0 = 1 o = 2 Y

(1) T THEgea (2) wHE= f4g TsHEETE

(3) 7 Tege i (4) e 7
Options :

61547544261, 1
E1547544262. 2
E1547544263. 3
61547544264, 4

Question Number : 142 Question Id : 61547511353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FATHRE 4 39 99 | 6O TFE & s w5 S e a7

(1) = oo (2 v=-fagh oo
(3)  =arsEAl Tl (4) Foroff wfties

Options :



E1547544265. 1
61547544266, 2
61547544267, 3
61547544268, 4

Question Number : 143 Question Id : 61547511354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=0 o | fafa 7= 55 fawm = v e 2, foed

(1) S wm iy | #3 wy F e R R

(2)  F-TUEF TH T A IAFH A7 T B

(8)  THT % WZ AT TEY A0 A H GET O AR F T A
(4)  F-TUEF T H R HH A

Options :

61547544269, 1
61547544270 2
61547544271 2
61547544272 4

Question Number : 144 Question Id : 61547511355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= = o A viuarsy =i e o 2

(1) v oS (2) = ufiEs
(3) &M vfuETs (4) = ufoars
Options :
1547544273 1
1547544274 2
1547544275 2
1547544276 4

Question Number : 145 Question Id : 61547511356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547544277, 1
61547544278 2
61547544279 2
615475442580 4

Sub-Section Number: 3
Sub-Section Id: 615475490
Question Shuffling Allowed : Yes

Question Id : 61547511357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Juestion Label : Comprehension



Sub questions

Question Number : 146 Question Id : 61547511358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the sculpture Shiva i1s tramplhing on

(1) Apasmar Purush (2) Andhkasur

(3) Banasur (4) Corpse

Options :



E1547544281. 1
61547544282, 2
61547544283, 3
61547544254, 4

Question Number : 147 Question Id : 61547511359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sculpture of Nataraja belongs to which style?

(1) Pallava (2) Rashtrakuta
(3) Chola (4) Pandya
Options :

51547544285, 1
61547544286, 2
61547544257, 3
615475442558, 4

Question Number : 148 Question Id : 61547511360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The left front hand gesture of Shiva 1s called

(1) Abhavamudra (2) Suchimudra
(3 Vismaymudra (4) Gajhastmudra
Options :

61547544259, 1
61547544230, 2
E1547544231. 3
E15475442392. 4

Question Number : 149 Question Id : 61547511361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The posture of Shiva 1n the sculpture 1z called

(1) Tribhang (2) Atibhanga
(3) Pratyalhd (4) Sthanak
Options :

E15475442593. 1



E15475442394. 2
61547544255 3
61547544236, 4

Question Number : 150 Question Id : 61547511362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the medium of the sculpture ‘Nataraja'?

(1) Bronze (2) Brass
(3) Copper (4) Silver
Options :

61547544257, 1
615475442358, 2
61547544239, 3
61547544300, 4

Question Id : 61547511357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Cestion Lakel CDITLI}I"EhEﬂSiOﬂ



Sub questions

Question Number : 146 Question Id : 61547511358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=6 it | forg T a9 50 A m AT

(1) =7 %9 (2) #AgFER
(3 = (4) =
Options :
E1547544281. 1
61547544282, 2
61547544283, 3
61547544254, 4

Question Number : 147 Question Id : 61547511359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2SI iaET e I § garag 7 7

(1) =4 (2) wEE2
(3) =0 (4) wr=In
Options :

51547544285, 1
61547544286, 2
61547544257, 3
615475442558, 4

Question Number : 148 Question Id : 61547511360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) YT T (2) == T3
(3) B el (4) TS 7 qgl
Options :

E1547544289. 1
61547544230, 2
61547544251, 3
61547544232, 4

Question Number : 149 Question Id : 61547511361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  fF=m (2) AasT
(3) B L N o o (4) T
Options :

515475442593 1
61547544254 2
61547544235 3
61547544236, 4

Question Number : 150 Question Id : 61547511362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

P [ i P
FATA TITHT THRH 9T il = ¢

(1) F= (2) i
(3) A= (4) =

Options :

61547544297, 1
61547544298 2
615475442959 3
61547544200, 4



